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N.B. 1 All questlons are compulsory y e - e A;?:’-‘;'\‘ N
Flgures to. the right indicate full marks 3 = > ‘
¥ OF & F & &
(A) Select the most appropnate answer from the optlons« glven below (Any Te:l) y 10 / o
1. Strategic Human Resource Management is the ;f'"" \* manggement of ’
people. D 2 o S N A 3
a) Reactive * b)Proactive © &
¢) Rigid- 3 : d) Fixed AT & _.\.::-‘-:' 5
2. ol ~ isa prqcess of studymg and collectmg 1nfomlat10n relatmgjo '
operatlons and’ respon51b111tles of mspemﬁc JDb A2 >
‘\4 o s S : L P An:\__'. ‘?'
,{2::'" 2) Rolg’?;&nalyms_,fg& <b) Benefit Analys1s < :
g5 C) Cgét Analysis_ & DI oB\“Analysm o ,\w‘ ;
3 \ & i_sgj:':i“ process of searchmg and attraﬁtmg capabf" candldates to
apply for, the _]Ob k_v R ;_--’T\’ &
"a) Selectlon \ 2 ) Place'ment _ o e
o) Rec?‘ultment A d) Termmatlom K4 o
* Fo > 3,_ P
: AN WY
-~ 4 N &trammg 1m"p5‘11es tralmng prowded ina lecn:ire hall. -
g \a) Vestlbule 2 - b) Slmulatlon _}:'.' ] ""_‘”-:3%
o €) Apprentlceshlp o d) Ca’s’e study < b
" g S
¥ s, The« oF effectmccurs when rater eva]uates the employee on the basis of
»{;"" Qne posxtlve quallty X
N _~a) Spillover 3 © b) Hom E
R " ¢) Halo : o 9 Contrast
-6 v isa teehmque of- -Management Development Program, whereby, a senior
< - magager acts asa gulde to train and devclop _]fmlor managers.
NG K a)Coachmg _ "” . j\-" b) Redressal
W LEe) Engagement 4 ' d) Promotlon
% 1. leaders do not encourage’ innovative ideas.
aj ‘Transactional - . b)Professional
=) Transformatlona} b d) Modern
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Paper / Subject Code: 83014 éco%mercefw

P e

8. theory assumes that people;c_lre not creatlve P, . | '
a) W b) X o > g
0Y d)f?Z o .é;\.“' j\
9. The concept of Emotional Quotlent was de\(eloped by o . s N
a) Abraham Maslow 5~ b) Vlcfor Vroom Q & NS
¢) Henry Fayol i d) pamel Goleman e 0 o
10. isa charactenst:c of M'llenmals | 2 4
a) Fear of multitasking ' b) Passmn for technology
¢) Lack of mobility d). dismterest in vnrtual mtcractlon .
I1. isa pattem of employment whlch has a non-ngld start and f msh t:mmg
within agreed limits, .* G 57 \f & K of
a) Temporary employment ' b) F Iexl-tlme empl oymerit~ S ) \w
c) J ob sharmg - d) Part—time em ployment & N
~ ; o A Py o2
12; is onmof the reasons of employee absenteelsm & Q¥ L
P “\ ¢ _.‘a. "\:\' ":}:\
-~ a) Opnmom workload i ) Reduced stress A
c) Hl gh motivatlon e Personal or fanuly problpms " S
(B) State whether theJ‘ollowmg statements :ire True OR False;. CAny Ten)‘“ ;-§:Nf6

1. Traditlonal Managers adopt flex1ble Human Resource policies. 57
2. Job title, job locanon"“and Jjob summary are components of Job Descnptlon
3 Promotlon and transfer are external sourées of Recrult:ment o
4. Classroom lectures are On -the-job trammg methods b
. Performance. appralsal facilitates promotion declsxons " Y
: Counselmg and Mentoring are synonymous; X

5

6

7. 'Non-Statutory Welfare fac1ht1es are con;pfi‘lsory in ail organlzatnons
3 :

9

S

T
buig
i

: Self-actuallzanon needs exlst in all people. o

. 9 Morale refers to’ social condmon of the em ployees in the orgamsatlon.

10, ¢ The sexual harassment ofwomen at workp!ace act (preventlon prohibition and
. Tedressal ) was passed in 2018
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Paper / Subject Code: 83014 / G‘(;nlmerce;".jvl &
Q.No.2 Answer ANY TWO of the followung.,% o ,;-3 RS ' 15
a) Define Human Resource Management Explaln its lmportance |
b) What is Human Resource Planmng‘? Expf‘am the steps in it. {Q,_,_:_' 2
¢) What is E-Selection? Dlscuss its techm?ques "\l \.-\v-y_-- A
\'WT \';_‘.‘./o . {M £
Q.No3 Answer ANY TWO of the: follow:ng'\ oy & ¢ s
a) Explain the process: of identi fym g tramlng needs in- en orgamsatlon '
b) What are the methods of Perfbrmance Appralsal? xﬁ*

¢) Explain the concept of Suceesswn Plannmg Why isit needed in an,qrgamsatlon‘?

. ;:‘ o o ; ls

Q.No.4 Answer ANY TWO of the followmg

a) Discuss’ Vroom s Expectancy Model. -~ o ANy
b) Exp lalri factors aﬂ'ectmg Spmtual Quotlent A
c) Explé"in the p(g)cedure for. redressin g employee gnevances

‘N‘W % \.;’L 3 . _‘. i ";
Q.No.5 Ansxger ANY. TWO of the‘follo\wng :7_;:» ) »Q“' ~15
‘,,\\ b s
a) Explam‘ﬁle Importahce of creatmg mnovatwe orgamsatlons X g
4 “b) Dlscuﬁ the importance of Human Resource Informatlon sys?em R
\ c) Explam factons leadmg to»absenteelsm in orgamsatlons el
Q: No 6 erte short Notes (Any Four) ) ' 2 =) W . 20
; a) Job Demgn “‘ " S A 3 ?”y
- b) Human Resource Development - o =
c) Tmnsfonnatmnal Leadershlp ol . x ﬁ
. d)gmponmge ‘of Potential Appralsal " R .
< e)* Competency Mappmg £ O S ol
Lo bl Eng Tag S
1) Workforce dlverm N o) " o
k) f) k& t}’ _:{O& o S
: \.‘. 4 £ is
. N N %e) 1% X
s - & g **ff_--'\"** X
‘j _\:w ) e & :_—." -
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Note
Q1 A

C

Paper / Subject Code: 83020 / Computer systems & Applications Pcai’)er -1

Max Marks: 75-
Duration: 2 Hours 30 min axviar 3

All questions are compulsory

s

- = 09 (5'51"1‘?(.‘

Attempt any Two sub questlons from a) b) & c) in MS Excel

(True or False )

The default cell referencels absolute reference &

The LEN () function does not mclude spaces while calculatmg the length of a“strmg :

WEEKDAY () returns the day of the week such as “Sun”, “Mon”, Etc
Attempt any Two sub questlons from cl) e) and f) in Vlsual Basnc
(Multiple Choice ) ‘ : : '
VBP means ;_ ' o - : -
1. Visual Binary 2.Very Basic 3. Visual-Basic -~ 4. Visual Basic
Project . Project “ Project % Property
The prefix for naming a menu item in VB is ' : |
1) m 2) Mnu 3) men - 4) mne
are the basic building block of Visual Basic Appllcatlon &
1. Fonns 2. Method 3. Events : 4, Controls 3

b Attempt any Six sub questlons from g) h) 1),1) k) l) m) n), and o) in B- Commerce
( True or False ) i : : :
E-commerce méans buymg and sellmg of products or serv1ces by busmess or consumer
over the internet. o s N ;.\--
In'C2C E-Commerce. consumertransact w;th other consumer through a physical market.
The volume of B2B-transaction bemg done is more than B2C transaction.
In SET the customer’s credit card number is never seen by the merchait.
Integrity refers to the ability to determine the ongm of the message recewed over the
Internet. &
_o.The cost of the products sold through E-Commerce i is very hlgh
In the subscrlptlon ‘model a fee is charged to the user for havmg access to material on
the website
Decryptlon means converting readable text info cipher text.
“EDI stand for electronic data interchange.

‘Attempt any Five sub questions from P), q) r) s),t),u), v) and w) in E-Commerce

(Multlple Choice)

A computer-to computer exchanges of busmess transaction is called

a)“EDI ~ b) E-Commerce ¢) E-Business d) E-Market

‘The model in E-Commerce where companies earn revenue by referring users to other

websites providing products/services is called model.

a) Advertising b) Affiliation - c) Sales d) Transaction

Conversion of'coded data into readable data is called

a) De-Conversion b) Décryptions ¢) Encryptions d) Password
“The most. commonly used form of payment in E-Commerce is

a) Credit Card b) Pay Pal ¢) Petro Card d) Digital Cash

The full form of HTTP in E-Commerce is Hyper Text protocol

a) Travel b) Topology ¢) Transmit d) Transfer

04 BFB2ACODA9804EOECE§/§§£5£O¥£@E46 ;.-_E{'
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Paper / Subject Code: 83020 / Computer systems & Appl-g’?éationsfllf«gfper -I0 .

s

u The full form of SET is

a) Secure b) Secure - ; ) Secure_.\.ﬁ;ff d) Secure Electromeg,
Electronics Tax Electronic ‘;;;;-L' Electronics " Temtory
transactlon 5 Tunnel &Y =

v Commercial transaction done with the help of cell phone is called \v \
a) M-Commerce b)r.,M-Busm(e_s,s c) E- Commerce d) E- Busme”éﬁ

w  Yahoo.com isa X > e Kool e
a) Portal -f-"'b) Protocol 7__;" c) Emaj_l" \ d) E-Tallor Y

;'%
2 4

Q2 A Attempt any one sub questions from a). & b) in E-Commerce
/( Explain any four Revenue Model in E- Commerce -
b Explain various payment system. -in E- Commerce - ; ‘ v
B Attempt any one sub, ‘questions from c) & d) in E- Commerce-
c¢. Explain B2B and C2C models in E-Commerce -

d. Exp]am Encryption and\Decryptloq_m Commerce o

Sl

Q3 A Answer any one sub question from a) and b)in MS»Excel ;
P4 ” THe following data has been entered in a wor}gsheet \ ' s "“

> Wnte the steps to obtain : _
1. Total Marks : < 5

2. Average marks s
< 3 Grade which is decided as per the followmg criteria.

Aver_gge e Grade_
>=60 A
<60 but >=45 B
<45 but >=35 C
<35 Fail

2436_7 BFB2AC0DA9804E0ECE16)£§£5%0??§3E46
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Paper / Subject Code: 83020 / Computer systems& Appﬁ%aﬁons Paper -1I

e e h
Name Amt o s [o mmlssiqn:fﬁBonus |
Rachit | 55000 : . il
Anish {45000
Sunil-~ | 64000 .
Rafl | 35000 ' ,

erte the steps to compute

i Commission in Column C as 5% of the sales amt
_ii. Bonusin Column D as follows :
> : - [SalesAmt | Bonus | -
~ [Upto 50000 | 5% R
>750000 | 8%
:"\ " o e {j’&}g‘:{ "
" iii. = Total in column E. 7 :

Answer any one sub quest1on from c) and d) in MS EXCEL
c. Answer the followm g usmg the glven spreadsheet

[Rasik | 16000 | _

- Write the steps to compute the fellowing
- 1. HRA in column Cas 30% of Basic salary whenever the basic salary is
"~ 30000 or less otherwise as 40% of the basic salary
2. DA in column D as 50% of basic salary.
3. Tax in column E as 10% of Basic
4. Net Salary in column F as Basic + HRA+ DA — Tax

24367 BFBZACODA9804EOECE§£§£5%0%§4§E46



Paper / Subject Code: 83020 / Computer systems & Apoﬁéﬁtions Saﬁer -1 .

Ty

d.Answer the following using spreadsheet.

Taxable | Income | Surcharge | - Total

Income Tax - Tax |
Rachit | 555000 &
Anish [1200000 | :

© 640000 : ? 2 5
Rahul | 1350000 - t 4
Nishin | 750000 \ K2R "

Write the steps to obtain the

1) income tax in columns C

2) Surcharge in columns D and ;
3) Total tax in column E. where income tax- is calculated as follows

T
ST
< rd

( Taxable Income Income Tax a5 k $
.~ First 250000 ~ Nil %
" Next 250000 5%..
Next 500000 10%
“Excess 20%

Surcharge is calculated @1% of the income tax and is appllcable only to
those whose incomes exceed IOOOOOO otherwnse it is zero.

Q4 A Answer any one.sub question from a) and b) in MS- EXCEL :
A, The followmg data is entered in a worksheet regarding rainfall in three montns (in

i - =
| A B c:]T DI E I}
ol City | Oct | Nov [ Deec o
) Pune | 50 35 40 '
3 | Thane |- 40 45 [ 520
4 | Nashik| 30 | 50 | 30 |
2 5 Dhule 1_0‘ 55 6Q
erte the steps-

1)T0 find the total rainfall in each c1ty in the cel]s E2to E5
.ii)To create°2 D Column chart for Oct , Nov and Dec..
~ii)To create Pie chart for the rainfall in Pune in Oct, Nov and Dec
iv)To. create Line chart for the rainfall in Oct and Dec.
b. The following data has been entered ina worksheet.

"PRODUCT | COST PRICE QIYSOLD SELLING PRICE | PROFIT
TV - 25000 |60 32000
3| Washing [ 15000 29 20000
Machine
. _ | Refrigerator | 21000 35 2750
| Microwave | 9750 24 12500
;‘;::Total profit

Write steps to find the Total Profit in B7.

’24367 BFB2ACODA9804EOECE§£§25%0(H‘4§E46



Paper / Subject Code: 83020 / Computer systems & Applications Paper - II .

B Answer any one sub question from c) arid d) in MS- EXCE__L‘j::

¢.The following data has been entered in a worksheet ) :
e ' 5 E &

A | B ; B .

| Emp_No Name Dept Salary

| P21 Shruti HR 55000 3
P32 Vikas Admin 60000 2
Si11 Amita Sales 40000 -
A12 Shyam HR 30000
S13 Kashish HR 35000 X
S14 Radhe Sales 25000

Write steps to do the following: - :

i) Display. only those rows where the Salary is morethan 50, 000

ii) D1splay only those rows where the Salary is mofethan 25,000 but

less than “40,000. ; . e

iii) Dlsplay only those rows where the Department is A

& Explain the following Funcnons in MS-EXCEL. X .
1) SUMIF() 2) LENQ) 3) M“QNTH() ¥ =" 4)YEAR

(5) PROPERQ - 6) UPPER() 7) T[ME() L

\

Q5 A Answer any one e sub quest1on from a) and b) in Vlsual Basnc ;.j?fi'; |

; erte a pro_]ect m‘VB to design a suitable form Wthh allows the use

rectangle and breadth of the rectangle and then calculates and dlsplay the

rectangle (Area Breadth X Length)

b Write a or ject in VB to de51gn a suitable form whloh allows the user to enter Name and
" Basic Salary and calcu]ate DA as 35% of' Basic Salary whcnever basic salary is less than

35000 otherw1se 40% of Bas1c Salary using a ‘Calculate button and display the result.

B Answer any ¢ one sub questlon from c) and d) in Vlsual Basxc

/c Write aprOJect in VB to de31gn a suitable form whlch allows the user to enter two numbers

and displays the‘larger of these two numibers.
d.:Write a proj:éct in VBto ‘compqt:;if‘and display the sum of the series.
42434410

ek ok ook Kk

1
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Paper / Subject Code: 83007 / memmmmmﬁqmg—x -Cost Accountmg
Sem -V & & & & &yl

Time: 3 Hours . S % Marks: 100

N. B. (1) All questions are compulsory. ' A2
(2) Figures to the right indicate full marks. -
(3) Use of simple calculator is allowed. .
(4) Working notes should form part of your answer.

Q 1A) Multiple Choice Questions: - (Any 105 ‘(»jw"Marks])f i
i) In Cotract costing loss of Material by Fxre is credlted to A%

* Financial Profit & Lgss Alc *

e Costing Profit & !mqss Alc = & 5 2 -

» Contract A/c ._\\_:.\;_".'A/ oY o S o

. Contractee’s__A_!b ;.- : &S . o
ii) Cost ledger contains g :

e All personai Al

o All 1mpersonal Ale

* All nominal A/c

e Allreal Alc

iii) If cash rccewed is 80% of work certlfed whlch 1s Rs. 4,80,000, Work certified will be

L

e Rs. _4,-30,000
* Rs. 6,00,000
* Rs.6,20,000
* Rs. 3,40,000
“iv) If sales are. Rs. 5,00, 000 variable costs are Rs. 2,00, 000 the P/V ratio WI]l be

e 60%
* 40%
. 20%
e 45% ; .

v) Normal loss is calculated at a certain percentage of the
* Units introduced in the process
* Direct materials
e Cost of input
* Direct labour

vi) Output is 2,500 units. Normal loss is 300 units. Abnormal loss is 200 units. The input is

B3

e 2,000 units
* 3,000 units
° l,SDO}Jnits
e 2700 units

23534 Page 1 of 14
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Paper / Subject Code: 83007 / Financial Accountmgfénd Audjﬁng X —C0§t Accountmg

vii) If standard cost of labour is Rs. 96,000 & actual cost mourred on !abour is Rs \»97 800, ttre
labour cost varience is e

Hiv,

e 1,800F «% : ' >

o 1,800 A el g ; = &

o 193,800 A K ; et =

* 193,800 F & " & P
viii) Process costing is applicable L@ & D, : &

* Paper Industry " __ ' R £ '

e Transport Company ' & P _f‘ﬁ :

. Prmtmg Press : *:4 & & A =
ix) Stores ledger control account iﬁ’é'ludes : ? 5 o 9__,\?;

e Al overheads incurred in process i _; e

e All wages incurred i m\pl'OCCSS _ z

* All purchases of matenal for the stores ‘ : é ,

e Allindirect expenses incurred in process ' o
X) An activity which generates cost is -

e Cost drivers

e Cost unit -

* Cost pool

e Cost centre ' 3
xi) If contract price is Rs. 15,00,000, work certified is Rs. 9,00,000. The amount tranisferred
to Profit & Loss A/c would be
* 1/3 of Notional profit*Cash received / Work cemﬁcd
* 2/3 of Notional profit*Cash recelved f Work certified
* 60% of Cash price 2
e 60% of work certified <
Xii) In marginal costing, increase in selling price
* Does not affect BEP
* Lowers the net profit
. ,Increases BEP
. 'Lowers the'BEP

Q 1B) True or False (Any 10) - ' (10 Marks)
a) Contract price is equal to'work certified.
b) Abnormal gain is credited to Process Account.
¢). Margin of safety is the excess of Breakeven sales over actual sales.
d) Direct wages are debited to Wages Control Account.
e) Work certified is a part of WIP.
f) Process account is credited by scrap value of normal loss.
g) WIP ledger shows cost of goods unfinished.

h) Angle‘of incidence is angle between total sales line and total cost line drawn in Break
Even Chart.

23534 ' : Page 2 of 14
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Paper / Subject Code: 83007 / Financial Accountmg%nd Authmg X -Cost Accountmg

i) In Target costing, wasteful activities are ehmlnated 3

«f /v-y

'\\ &

J) A Variance Analysis is a difference bctween standard cost and actual cost.

k) Idle time variance is always adverse

1) Non-integrated accounting is callcd~ Interlockmg accountm g system.

Q 2) Following information is rclate“’d to a bulldlng Qontract undertaken by Moonllg’hf
Contractors for Rs. 25,00 OOO*and for wh;ch 80%»01‘ work cetified by««the archltcct is

being paid by the contractee. = & oo 120 Markﬁ
Particulars L ['Year I *a Year Im Year 11 558
Material issued -.3,00,000 " 3,62, 500 2,10;000 o
Direct expenses 12,500 42500 15,000 |
Direct wages 2,75,000 | 3,87,500 | .52,75,0007]"
Subcontract charges <000 - 6500 1,250
Plant issued - 35,000 | - = .
Material at site & 5,000 12,500 20,000
Work Certified (Cumulative) 5,87,500 | 18,75,000 |  25,00,000
Work Uncertified 7,500 +20,000 -

The value of plant at the end of Year I, II 1T was Rs 28 000, Rs. 17, 500 and Rs.

7,500 respectively.

You are required to prepare Contract Account for alI the three years.

OR

(20 Marks)

.Q 2) Twmhght Contractors Limited obtamed two, contracts C] & C2. Following information
was extracted from their books for the year ended 31 March 2023.

Particulars Confract C1 _> | Contract C2
Date of Commencement 1" October, 2022 | 1" December, 2022
Contract Price- 1,05,00,000 22,50,000
Cash received 80% of WC: 85% of WC
| Work Certified 21,00,000 13,50,000
[ Work uncertified - 78,000 42,000 |
Material issued 5,37,000 2,98,800
Material returned to stores 21,000 -
Indirect Material . 2,20,000 2,43,900
1 Direct wages 4,42,500 2,66,250
Direct'expenses 2,04,750 46,050
Sub contract charges 41,250 33,750
Administrative charges 4,08,750 2,21,250
‘Supervision charges 95,550 -
‘Architect fees 78,000 40,500
Electricity charges 73,200 -
Plant'issued at the commencement 33,75,000 18,00,000
Material at site at the end- 1,09,500 81,000

Provide depreCIatlon @ 20% per annum, on the original cost of the plant.

You are required to prepare Contract C1 & Contract C2 Account for the period ended

31* March, 2023.

23534
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Paper / Subject Code: 83007 / Financial Accounting-and A

Q 3) A product passes through three processes viz.X, Y and Z.the follqys}ing deta_i\;g‘:‘a're

udifing X -Qo‘sf’t}thccounﬁﬁg
=, i S
»3; g %

e

available from the books and records for the year ended 31 March 2023 (20 Marks)
Particulars X Yo | Z
Unit introduced 32,000 |- 7 -
Cost per unit 16 R —
Sundry Materials (Rs) 36,000 £24,400 |.5° 22,0007
Direct labor 2(Rs) 10000 | - 14,000 13,200
Direct Expenses " (Ry) 20,800 |~ 10,000 47,500 -
Production Overhead : 2" | 50% of sundry-|-40% of direct 2~ 6,800 |-

EA &5 " material | Labouf o~ >

Normal loss (%) 5% S 10% 4 12%
Scrap value Per unit .- . HRs.) 12] & 10 15|
Actual Output ' = 30,000 | 27500 722,800

The output of each process passes directly to the next

stock. You are required to prepare;
a) Process accouni
b) Normal Loss Account
c) Abnormal Loss Account
d) Abnormal Gain Account

OR

Q 3) M/s. Flowers Enterprises Ltd provides you with the followin

process and finally to the finished

g information for the month

of March,2023 about process A, B & C: (gg,fMarks)
Particulars : Process A Process B ‘Process C
Basic Raw Material introduced (‘unit) 20,000 4,000 2,000
Cost of Raw Material per unit (Rs.) 20 12 18
Actual output (unit) 18,500 18,000 11,000
Direct Expenses (Rs.) 1,65,000 1,75,000 1,95,000
Direct Wages (Rs) 1,30,000 -1,08,720 1,28,132
Indirect Material  (Rs.) 21,500 9,200 6,500
Factory Overhezds (Rs.) 68,500 50,210 80,000
Normal Loss ( as % of total No. of units 5% 10% 12%
input) W
Scrap Value per unit .- (Rs.) 6 4 8
Output Transferred to Next Process (%) 70% 60% ---
Output Sold at the end of process (%) 30% 40% 100%
Selling price per unit of the output sold at 44 55 90
the end of the Process .(Rs)

You are required to prepare Process Accounts

23534
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Paper / Subject Code: 83007 / Financial Accounting and Auditing X -Cvgszccouqt\mg

Q 4) Following are the balances in Cost ledger of Amrlt Manufac

]

g

April, 2022 \ 5\',‘
T ;Débit(Rs) J Credlt(Rs‘)
Stores Ledger Control Account | 34,000
WIP control account 45,600 ;
Finished Stock Ledger control Account ..24,000 sy " e
Cost Ledger Control Account % F i 1,03 600

Following are the transactlons for thie year ending on 31“ March, 2023

W

tgnng Company on 15‘tj
(20Marks)

By
i
A s

Pl

Particulars

Purchase of Rd@'v material

1~ 1,00,000

i g
e
W

Material issued to progluctlon (§ 94:000
Direct Wages 140,000 | -
Factory Overheads incurred < 80,000

Selling & Distribution overheads incurred

32,000

Factory Overheads recovered

88,000

Selling & Distribution overheads recovered

31,500

-+ Sales

Stock of WIP at end

~4,00,000 |
-7 50,000

Stock of Material at end

40,000

Stock of finished goods at end

30,000

You are rcq_uired to prepare following Cost Control Accounts: &)

a. Cost ledger control Account

Stores Ledger Control account

WIP Control Account

Finished Stock Led ger Control Account
Costing Profit & Loss Control Account

I

OR o

QG 4 A) From the followmg particulars,you are required to calculate:

1) Profit Volume Ratio

2) Break Even Point

3) Profit when sale is Rs.2, 50,000

4) Sales required to earn profit of Rs. 50,000
5) Margm of Safety in 2" Year.

(10 Marks)

Year

Sales (Rs.)

Profit (Rs.)

3,75,000

25,000

4,50,000

40,000

23534
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Paper / Subject Code: 83007 / Financial Accountingéﬁﬂd Audjﬁ;lg X —Coﬁ"t"{Accouq\Qng

Q 4 B) Calculate Material Cost Variances, Matenal Usagc Vﬁrlancc Materlal Pnce Variancc '

from the following Data: 5 £ S ¢ (] Marks) il
Standard Quantity per 10 Units of productlon - o) ‘ | g
Material 70 Kgs @ Rs.5 per kg. Ko ~ Y A
Actual Production for the month=12,000 Unlts ; g
Actual Material price per kg =@ Rs.5.5 - a e o B
Material used during the month= 80,099 kgs “— ‘ s "‘ <. o
Q 5 A) Explain in detail about features éngontract‘:c’cjsting. W (10 Mark_é)
Q5 B) What do you mean by Life cycle costing: s F 0 Marks)
Q 5) Short Notes (Any Four) - : -(20 Marks)
i. General Ledger Adjustment Account ey

ii. Normal & Abnormal Loss &
iii. Labour Efficiency Variance )

iv. Significance of variange analysis

v. Marginal costing

vi. Activity Based Costing
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Paper / Subject Code: 83015 / Direct & Indir'ect Ta{gj;}On Papgt":','f;l II x\ &

& P e g' f\@' £
: ; | T 3 : ’:
Time: 3 Hours : ,ﬂ X 5 N 'I'titfi[ Marks: ¥lﬂo ‘}5 -
N.B. (1) All questions are compulsory.. - X .I A _:_;‘{': ' Y &
(2) Figures to the right indicate. full marks"allotted to*‘the questlon &’ '
(3) Working Notes should form'part of y‘our answer. X
(4) Calculate figures up to two decimal’ pomts wherever reqmred : &
(5) Provisions of GST Actas on 1-4-2022 have ’to be cons{dered Amendmentsm e
made to the Act the "T'ter are tQ’ be lgnored & N
Q.1 a): Select the most approprlate OptIOI‘I an\d rewnte fhe full sentences (Any Ten) (10)
1. SGSTis appllcable when' A e ) ;«\ A _ & -
(a) Goods are“ sold within the state” & & K & 2

i

(b) Goods are sold from one GS'T dealer go a customer :
(c) Goods are sold. From one: GST dealer to another GST dealer
(d) Inter-state supply G v X .
2. & = is the threshold- hmlt of tumover in the precedmg ﬁnancral year for optmg
to pay tax under the ccjmposntlon scheme fonspeclal category states
-(a) 20,00; 000 . ~
= (b) 10,00,000
AT (0 1% bo 000 .
& (dl 1,50,00, 000 : - R ;
R is exempted from GST s’ g A
-“'_(a) Any Business exhibition - Nl ’
“(b) A busmess exhlbltron inIndia .
(c) Abusmess exhibition outside lndla

3%
o

(@): ‘None of the Above : a3
4. Tax invoice:must be issued by ~“on supplies made by him.
.. (a) Every supplier .~ o
" (b) Every person Q &
D () Every registered person not pay tax under composrtlon%,
(d)-All the above

5. The liability to pay tax on goods shall anse at the
‘“(a) Dispatch of goods
(b) Removal of goods
(c) Time of supply s
(d)y Dellvery of goods -

6 Mr KamaLesh purehaked goods for which, t’\A invoice was Rs.1,00,800 including IGST of 12%
". The Input tax credlt under IGST shall be

& (a) Rs.10,800 - . o
"~ (b)Rs.12,09.
(c) Rs. 6, 048 X
{d) Rs.5 400
24541 & Page 1 of 18
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Paper / Subject Code: 83015 / Direct & Indlrect Taxapon Papeﬁh II éff‘ S
g g £ 54
2B __;. 4 V R A / 4 >»:‘ :‘\'_ x
7. refers to recéipt of goods or servwes or both“whether bf? purchase, ‘écqulsmon or
any other means with or without cons1derat1011 ,;"* AN S &7 &
(a) Outward supply e Ko ;?' K ‘x';_f."" e ;5
(b) Inwards Supply ‘;;‘_"-“"' & R o ol Y
(c) Taxable Supply \ A I R o
(d) None of these Nl o> 3 22 X & oo
8. Supply of goods and sﬁhces wlu’yh const:tutes predggijinant el:_e\;ﬁ,iént of cofiposite supply is 4
called ~ i ‘.,_ :) .._‘,-_\;\ ";;M.._;‘.\ m\;f j\”
(#) Common Sup%y gL & o F F 4
(b) Principal Supply (.’ i,f o & & e X
(c) Mixed Suppﬁy o s Py o N o
(d) Continuous Supply. o o ;‘ é“‘vw & e
9. Tax rate on Goods lgdetennmed:cby el x;"fw ,::";
() Union Budget. * N ot & D A& N
(b) State Budget-" o “ P S QO A&7 A
(c). GST council s AR 8
(d) Central | Governmenf in consultatlon with-state govermnent & & N
10. Every person shall have i ‘order to: be el1g1ble for grant of reglstratlon under QST.
(a Aadhar card '-_; 2 Fé: A o
(b) TAN Numlgpr ia el X > & A
(¢). PAN Number ﬁ* o . S
(d) VAT/Service Tax,Number __;\”\“ ‘ 3 A \:
1 1. Transfer of the title lh goods ls~a supply of' o < e
(a) Goods g : o Fan
(b) Services = 3 A™ R
(Both & & &
(d) None of these - Q° Pod
12. GSTIN refersto __*~ o AT
(a) GST Infonnajxﬁn Number N &
(b) GST Information and Neétwork ./ o7 |
(c) GST Identification Network . N
(d) GST Identlﬁcatlcm Number & “
Q.1 b): State whether the followwg statements a’re True i:)r False: {Any Ten) (10)

1. The balance of CGST credlt aﬁer set-oﬁ' CGST can be used towards the payment of IGST.
2. Valueof supply is the amgunt upon Wmlch tax is 1ev1ed and collected.

3. A registered person supplymg ta-ggable googlsshall Issue a tax invoice within 30 days from the date
of supply of goods. - o _{j-%."

’ & )
4 The place of supply of tramij\g serv:cei% w1]l be where services are actually performed, whether the
recipient is reglstered or noti‘ %

5. Goods and;%Servwe "[“‘a)\;ﬂs a supplgilbased tax.

24541 § ;\_"f: ) Page 2 of 18
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\,f%
o g :f,
b i gk

6. Under forward charge, the recipient of good_sjo”‘f services.;;is liable to pay tax. o>

7. Services to the Reserve Bank of India are.f:

o
B
'.9
G

8. Place of supply of goods exported froni" India shall be the Io@atlon of a.n exporter

9. Services by any court or tribunal establlshed under any s law is the supply of serwces
10. The rate of composition for tradmg ﬁrms is 5%. ?j_\' ; .

.'<

11. Under GST law, the Value of supply shall not l(:clude mcldcntal expenses : \
12. Input Tax Credit shal! be’al lowed only on the Support ofT ax ]IIVOJpe

Q2 a) Mr. Vijay i is an Englneer prov1des you thh the followmg mformatlon P ¥ (Il‘ 0)

Particulars i A A -J<-°‘ o 2 Rs. |
1) Received fees for adv1ce in relation to settmg up an Insntute -+ 2,50,000
2) Received fees for professional advice to his friend . A | 1,75,000

3) Fees received for technical asgistance in software .~ i o 1,25,000
4) Professional advice to his friend free of chargc & -85,000 |
5) Received fees for consultancy services in Networking <. ) 1,50,000 |
6) Salary received from employer for part-time job Y e ~| 1,00,000
7). Purchase of stationary for office work 2ol A 1,60,000

Compute the: value of Taxable Services and the Goods-and Servwes Tax payable All-amounts given
exclude Goods and Services Tax Rate of CGST @ 9% and SGST @ 9%

Q 2 b”) Detenrime the Tlme of supply in each of the followmg cases as per the prov1s1ons of GST Act.

6B3344AE37619E5C2D8716DA07F2F977

Sr. No. Date on Wthh goods Date of Invoice Date of receIL)t of
- | are made available payment
1 - 17-04-2022 20-04-2022 18-04-2022
) 15-05-2022 14-05-2022 31-05-2022
3 2 18-06-2022 01-06-2022 10-06-2022
4 07-07-2022 _14-07-2022 21-07-2022
55 24-08-202Z -30-08-2022 18-08-2022
6 - 21-09-2022 17-09-2022 25-09-2022
<, 7 ~ 14-10-2022 11-10-2022 25-10-2022
408 [ 02-12:2022 28-11-2022 02-12-2022
o 9 05-01-2023 10-02-2023: 25-01-2023
; 107 16-02-2023 16-02-2023 06-02-2023
OR
24541 Page 3 0of 18
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Q.2 ¢} Classify the following activities as Taxable Supply and Non Taxable Supply g: {(10)
Particulars Q‘ -.?;é' ' %, | Rscv
1. Remuneration received as a Member of Parli lament(MP) »\«._.;‘ ~19,75,000
2. Royalty received from the permanent transfer of trademarks 2,00,000
3. Coaching in recreational activities in. relatlon toarts 3,75,000 A
4. Speed post services  ~ - o e .111,50,000
5. Rent received for residential house A 2 D 2,50,9(}0‘ o
6. Receipts from supply of farm [abour _ "‘% &7 A 2,55,000 o
7. Courier services < 2 & 4,75,000 |+
8. Toll receipts from hlghway of Mumbal to Pune ~ A 2,35,000 | P
9. Sold goods to-Mr. Nagesh of Nasik ~ 20N o 1.1,80,000/|~
1G. Renting of 1mmovable property 10 commercul coachmg centre 1 2,10, 000 ;’lif'
'."?M : o. . %.\\, Z; “z ,\\ ’g\' e
Q.24d) Determme the Tlme of supply in each of the followmg cases: as per the prov151ons of GST Act
Sr. No. Date of Supply Date of Invoice Date of Recelpt of - ,
of Services payment S
|~ 12-10-2022 01-11-2022 10-11-2022 ¥ b o
2 08-11:2022 05-12-2022 .~ 25-12-202‘5'2«7;?
3 10-11-2022 ~ 20-12-2022-" £22-12-2022
4 17-11-2022° 27-11-2022 03-11-2022
5 10-11-2022 -~ 05-12-2022 15-12:2022
6 15-11-2022 18-12-2022 22-12-2022 -
7 23-11-2022 28-12-2022 20-11-2022
8 25112022 29-11-2022- - 02-11-2022
9 06-12-2022 10-12-2022 ST 17-122622
10 09-11-2022" -~ 15-12-2022 © 04-12-2022

Q. 3 (a) Mr. Sanjay, reglstered in state of Maharashtra,

g

April, 2022, Calculate Net Tax Liability of GST. 3
Opening Balance i in Electrome‘credlt ledger as on 1 April,2022.

IGSTRs. 2,002000

b

CGST Rs. 50,000 -

SGST Rs. 1,00,000

24541
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Particulars S ' Rs.

Sold Goods @ 18% GST To Valbhav m Karad 12,G0,000
Sold Goods @ 28% GST To Apama in Pune - 8,00,000
Provided services @ 5% GST to Sunil in Tamllnadu 30,00,000
Provided services @12% GST.to Prakash in Uttaranchal 40,00,000
Purchased goods @ 12% GST from Jabalpur 28,00,000
Purchased goods' @ 28% GST From Nagpur 30,00,000
Availed services @ 28% GST from Ujjain 1,50,000
Availed services @ 5% GST from Sangli 90,000

prowdes your followmg details for the month

(10)



Paper / Subject Code: 83015 / Direct & Indirect Ta:__zﬁti\on Pap_t:::i;iﬂ A0
S
Q.3 (b) Determine the place of Supply i in followmg cases w1th reasons > “" ' (1 0)

1. Mr. Arbaz is an engineer of Delh1 who glves serv1ces for the constructron of plant in Mex1co

2. Mr. Shrimant, a registered person of Jharkhand sends goods thr@ugh couner to one thls fnends in

Dharashiv. ! _*’\ P W:' o e
3. Mr. Kashinath, resident of: Kandlvalr tal(es landlme telephone connection from a- company based in
Delhl K \ M:” 3 f\ “’* m, . i cad 3
4. TISS company of Pune has contracted with: Tramlng Instltute in Mumba1 to traln thelr employees
The training was grven to employees in Bangalore. =+ . . N'a
5. Ms. Sadhana of Jai arpur not havmg bank:account 1n Cochm takes a demand draft from Central Bank
of Cochin for the purpose of educatlon R k
Q.3 (¢) From the Following detaus ‘calculate Net GST Llablllty - 3 (10)
Mrs. Seema a reglstered deal erin thestate of Maharashtra pmvrdes you  with th@ follownngdetalls
’\ w 4 N %V, «0_ S
f@r the month of Apnl 2022. > o o i, I N

Opening Balance in electmnw credlt ledger as on 1*April, 2022 kS g
IGST=Rs. 17, ouo CGST Rs. 15,000 SGST—Rs. 15,000 :

V.

ey, By

'Transactlons durmg The month tAmoun;:é;’
: | 1 @y
Sold goods @.5'% GST to Abhiject.in Mysore o e, 00,000
Sold goods @ 12 % GST to Raju in Pune A T y\%;;oo,ooo
“Purchased Goods @ 12% GST from Kalwa j‘j" .+"50,000
Provlded services @ 18%. GST to Manoj in Valsad 70,000
P_rov1ded serylces @ 18% GST toDilip in K_”arad : 1,50,000
Availed services / Inward suppiies @ 5% GST from Bangalore | 3,00,000

gy s

Q. 3 (d) Determme the place of_\ upply in followmg ¢ases with reasons: (10)
1. Ms. -Aditi of" Mumba1 v151ts a hotel located in Satara and stays for 15 days.
2.Mr. Krlshna of PanJlm purchases a tlcket for watching a movie in Delhi.

3 A caterer prov1dem, 'serv1ces ‘on board 1n ‘train during Mumbai-Chennai which is not included in

fare

W

24541 > & Page 5 of 18
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4. Mr. Rajnish of Rajapur purchased a mot

R

5. Mr Nayak residing in Kolkata, tra“cls by Jet Agrhnes from Mumbai fo Bangalom and get§‘u~avel

ile from a shop in Baroda Gu;sat

Insurance done in Chennai.” < v A 3';“.‘- &,\5_“' A" Pl
& A - , i ol
S --:'\' A %} A ,5
Q.4.a) M/s Raja Enterprises has prowded the foIlowmg partlcuk;rs relatin g to the goods sold byit 3
M/s Rani Enterprises. A e o) w‘r» R w i ¢ 10) \»\
£ \ X Lh ¥ A~ P A
Particulars 3 N R 3 <0 R, 2 Py
List price of the Machme i A o A L] 4 SQ 000 ol
(Exclusive of Expenses, Taxes: and Dlscoufﬁ) A =) X X
Tax levied by Municipal Corporation on‘sale of goods & a S 45 000 |+>
Packing Charges I R v 2 15,000
CGST and SGST chargeable on the go g_ods ; S > | 54,000 &
Charges for designing the machine ~ N 24,000 K
Commission paid by M/s Rani Enterprlses on behal 5 of Ws RaJaVEntcrpnses 25,000 &
Subsidy received from NGO. e - 521,000 |
(The list price of Rs.4,50,000 is after cﬁnsxderu}g_he subsldy) o b F
M/s RaJa Enterprises offers 10% trade dlSCOl.ll'lt on the llSI pr ce of the ‘goods. 0 e

\

Determme the value of Taxahle supply made by M/s RaJa Enterpnses Also, calculate SGST @ 9%
and CGST @ 9%. - 2

Q4.b) Abhinay Ltd is a manufacturmg concemsm Maharashtra It wants to opt “for a composition
scheme. It furnishes you with the followmg mformation for the ycar 2022 23,

=

Kindly advise: & A 5 f;-“ (10)
a) Are they eligible to opt for the compositlon scheme" ‘

b) If yes, then calculate theu composmon tax llablhty (SGST @ 0. 5% and CGST @ 0.5%)

The break-up of supplies is as. follows

Particulars e __ & . Rs.

Intra-state supplies which are wholly"‘éxempt\_ 3 2 50,00,000
Value of inward supplies, whi_oh fax is payéble un@gi?ieveme charge 15,00,000
Intr\a-'state supplies of good's: to MrRamesh (Taxrate @ 12%) 4,75,000
Intra-state supply of 'goods to Mr liajesh chgr;ed at Nil rate of tax 22,50,000
Intra-state supply of taxab_lé goods to Mr. Suresh (Tax rate 18%) 18,75,000

All amounts are exclusive of GST 2 .
24541.; Page 6 of 18
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Q.4 ¢) M/s Ajay Enterprises, a reglstereq _,uppher provndes you the followmg cletalls w1th respﬁct to

the contract entered with M/s Vijay Enterprlses for supply of goods \_ 3“ (10) o_':'f-.-.\'.‘ |
Particulars ' CI‘? > Rs. R§ ol
Value of goods (inclusive of SGST @ 9% and CGST @ 9%) . =i ;90,000 |
Taxes other than CGST/SGST- A8 wi /29,500 |-
Following expenses were mcurred by M}'s Ajay Eﬁterprlses,\ - A’ M
a) Insurance charges <) ~ LV ,_:i\‘“ 11,800 - g
b) Packing charges  <° ol & & 12200 o7 G
c) Transport charges .~ A : QD -y 20,000 44,000 |
Testing charges mcurrcd by M{s Vijay Enférprlses on behalf of Mf’s A_lay-:-"; 155,000 b
Enterprises - o~ 4 3
Designing charges incurred by M/s Vljay Enterprlses not ﬁn behalf of > & 7,500 1
M/s Ajay Enterprises A ‘ G o
Subsidy received from the Assocratmn of Traders .~ : ¢ 40,000 | <
(List price is after con,sndermg the subsidy) & {& <
Calculate the value of supply and the tax.of SGST @ 9% and CGST @ 9% o
Q.4.d) M/S Anand and company is carrying busmess in Mumbal of Selhng Groéerles Th&company
started business on 06;Q2/2023 His tumover»ls as follows 3 '~
Are they liable to obtam reglstratlon under GST ? If, yes, from when‘? \“ (10)
o
Date Taxable Supply wnthm the Export supply “Exempt supplies
; state of Maharashtra ( Rs ) 0 (Rs) (Rs.)
28/02/2023 3,14,000 - 8,12,400 21,000
06/03/2023 |~ 3,04,000 L= 32,000
07/03/2023 2,85,000- R & - o 18,000
08/03/2023- - - 3,72,000 o N 16,000
09/03/2023 : 5,92,000 v - 1,12,000
10/03/2023 3,12,000 : - -
11/03/2023 1,80,000 - 1,15,000
Q.5 (a) Explain the Benetfits of Goods and Services Tax = (10)
(b) Distinguish l;gﬁvecn:
i) Direct Tax and Indirect Tax - (5)
ii) Casual :-Taxable_Péfson and Non-Resident Taxable Person %)
OR
24541 Page 7 0f 18
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Q.5 Write a short note on anv four of the fcﬁwamg

a) Aggregate turnover =S &
v A%
b) Time of supply of Goods &
¢) Electronic Cash Ledger N ;
d) Intra-state Supply and Inter-State Supply 4 AN P s AC
- ’;\_:3{:' ‘v:\\;: A R
e) Mixed Supply & & - .
o oy & & » 5
f) Composition Scheme : AN o
A 8 Qy
. . f‘\._&":'“
2 “Qz:»:b A “.." e -\
4 :'\“ﬁ‘ '5:'-;" ‘:\% Q .‘.-‘2 ) -:\"'o ;
s N P L a5
™ G . N —~ Pl
oV A A oot
- o AN o AN
# 3 H \“":5‘: ...\&:\_
o S %
- i e s&_
by ! F W
i A< S o
A &
< % B
i 5 4
! :%?\%\; % .'_%_g;,?
& <3 A7 $
S
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Paper / Subject Code: 83013 /Bustﬁéws Econom

Time: 3 hours .-,3:
N.B. 1. All questions are compulsory. 7 A N

2. Figures to the right mdlcate full marks e

3. Draw a neat dlagram whereu@r necessary

i

Q1 A. Choose the correct ai’lswer and rewrlte the statement (Any Ten)

1. International trade will not take place under- __eost difference.

a) eompafative : b):absolute -+ RS

v

A

c) eguzii - d)average

P
s VOVW

2. If % U’.S'A < %%Ind%d, lndla is | \;\.{f count\i‘?f L,
':5-5) Labou‘_r-'scarce b) Capital a’bundant i

c) Labour abundant d) Labour neutral

e »\\

3 Remproqal demand'is expressed in terms of \i_ 4

: n :
7 -' 3) COSt C:ll‘\’es 3 ' b) Supply curves
.. c) Oﬂ'er curves -' d) Lorenz curve: y
if The main objeetlve of trade barners is --_-'——--------T,-o, ; - Ty
& . o ﬂ) TO---mCI/” ease ert_lployment_._-:- -~ b) To reduce un’necessaryb

c)\'To increaseexports d) To merease imports.”

3 ('_;" 5

]
s
| 5 :
o
ml\
,
g -
M,
5
Fares”
S
oy
sy ¥
e
S V

5. Imposutlen of tariff, raises demestle prtces causmg?faII in consumption of domestic goods

s ; effect of tariffs.

fo

a) P.'reductive etfect b)"Revenue effect

c) Proteetwe effect ~d) Transfer effect

6 Brex1t is the name given to the departure of

L

T

a) Belglum : . __b_)' Britain
e $ c) Poland K _ | ¢) Bulgaria
123314 - Page 1 of 7

5C511094118684E2BCCB61D652F25208 ‘

R i
@ '3

from the European Union.



= e, B T

Paper / Subject Code: 83013/ Busme§s Econgiﬁfcs VI

7. Current account balance records all the recelpts and payments for ___ 3 o

a) Only visible items ; b) Only mv151ble items ;;f;'

c) Both visible and invisiliie items d) Loans taken

8. Devaluation is ---=====vmn-=- adjustmem in value of the currcngy of the country

a) Downward . 'b) Upward o 7 R :_’:_;-' '.
¢) Vertical ~ dNewral . '
9. WTO replaced ---==-- in 1995 | . 5
&) TRIPS " b) TRIMs - & ;
c) GATT N - d)G ATS ,_»,;5 ;

e

10. As per Purchasing Power P"aﬁty theory. exchange rate is determined by, -comparing”

o

e

_ a) Prices ._‘-'-. b) Import- > é\ & 5
¢) Purchasing po}arer d) Expﬁﬁ P > ;
11 Spot éxchange rate is P g " ) &i__;-_-_'“. | 3
a) Managed exchange rate b) Fixed_f’é;cchangesrate - \:i
¢) Floating exchan ge rate __; d) G’urrent exch;gge rat¢ \ ' By
> 1“2. Hedging function .is about ¢ égtr'cring nsk throug.h | = \W .
a) Speculation fb) Forw_ard excha_nge.' ;
c) Stafi'c exchan ge o d) Bach\arard exchange :
Q.1 B) State whether the foilowing statements are TRUE or FALSE (Any 10) 10

1‘1

Accordmg to modem theory, there is no need for a separate theory of international
trade. ’ ¥

2.1 acob Viner developed the concept of Income. terms of trade .
3! Equlhbrlum terms of trade are determmed through offer curves.
4.»; “Free trade leads to. an 1ncrease m cost and-inefficiency.
5. Spemﬁc duties ar imposed on a fixed.percentage of the value of imported goods.
g "
7
8
9:

. Indiais a dialog. partner of ASEAN.

. Medium-term loans of 2 a country are denoted in the Current account of BOP.
. Exchange control is restrlctmg the use of foreign currency.

- TRIPs agreement, covers mtellectual property in case of geographlcal Identities.
--'10. Countries in the world are followmg a fixed exchange rate system.

23314 E, Page 2 of 7

5C511094118684E2BCCB61D652F25208
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g g T
S e o

11. Speculation is opposite to hedging. :
12. The aim of RBI’s intervention in the,\fore1gn exchange market isto reduce excess
volatility. ] o wy

LA

Q. 2. Answer any two of the followi_n‘gl 3 . & 15

A. Explain Ricardian Comparative Cost leference Theory of Intemanonal Trade.
B. Discuss different concegts of Terms: of Trade, |
C. Describe various types of gains from trade. ..~ 5 ¢ .

S

Q. 3 Answer any two of the followmg 07 P c 15
o @ &% - o o
A. Discuss the arguments in {avour of and agamst free trade}pollcy N x5 &

B. Describe different types """ of tariffs.
C. Explam the obj ectwes and achlevem ents of the European Umoo Y

4 At # X -

Q. 4 Answer any two ol‘ the followmg of e 15 i)

ik

A. Explam the concept and structure of balance of payments;
B. ﬁ‘nalyze drfférent measures to correct dlseqylllbnum m balance of payments
(; Bneﬂy exp’lam the W’I‘O s TRIPs and TRIMs agreements

o L
iy

Q. ~5 Answer"any two: of the followmg _ > o 'lS

A. Explam how- the equnhbrmm rate. of exchan ge is determ med

B. Discuss the purchasrng power pari ty theory: of exchange rate determmatlon
C Explaln the role ofw;entral bank in forelgn exchange management

Q 6 Wnte short notes on any four of the followmg o G o 20
X A Oﬁ'er Curves A ' & o
> B.. Types of ﬁconomrc mtegrat;on & w2 &
_G Eﬁ'ects\of Tariffs . S s
--D. Functions of foréign exchange market: ~ 2
E. Spotand Forward exchangerate > A

F. Types of drsequlllbnum in balance of payment

o B P

P
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Paper / Subject Code: 83016./ Export@o/rketingii’aper -1 : &

Time:3 Hrs. & __._g_\ < Mark_s:iﬂl)(}

Note: 1. All Questions are Compulsory S0 -
2. Figures to the nght state the marks allotted to the questlons

Q.1. A. Select the most apprOpna}e answer: from the. ophons gwen below (A’ny Ten) (10)
1. is a process of glving a dlstmct name. or a mark to a product in order to give a. -
distinct identity. 2 : i o Y

e Brandi mg v : . \ |
s Packaging &' &
o Insurance " : _ _
. ;Warranty Q¥ | 4 \;;

2. Phrases llko- ‘This Sldc up’, ‘Protect from water’, ’Fraglle— Handle with carc otc arc :

examplcs of .y : p R
| » " ¢ by . i g

e Ma.r'kmg I

3 25 1 5 i : . z ? i
o [Labeling . e & 8
Sadetifng S O & & L& o

_ e Branding \ : ' o R
At Y . By, @ s

L4

PR

B3, ) quotatlon mclgdes the expcnses mcurred till the goods are”’loaded on fhe board
of shlp at the poﬂ ‘of shipment. -

e FOB -~ 4 -
e CIF < ' /
"~ « FOD s
4. oF g is the intermedi iary between the nianufacturer and overseas buyer.
' ~e Domestic manufacturer -
e Importer o~ \'
" e Merchant Exporter - : '
; o Contractor
> o refers to the act1v1ty of movin g ltems w1th1n warehouse and retail stores.
X ® lnventory management
» - Network design
'® Materials handling
e Facility location
22949 - ) Page 1 of 8
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11.
e
'.

L]

12 Thc basic document containing all the mforfnano

-EPC

Tax authorities
C&F agent

Importer

5

P

of other documents is

22949

Commercial Invoice
Bill of Lading
Consular Invoice
Certificate of Origin

Page 2 of 8
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6. helps in obtaining lqustffom prospective buyers.
* Advertising :
* Publicity | ;
* Personal Selling &
* Trade discount
7. Switch trading, Barter and Off Set are methods of
e Inspection -
e Promotion ; 2
e Insurance 03
e Countertrade ks
8. Pre shipment finance is also known'as
o 'Packing‘_c'i'edit
~® Deemed finance
* Forfeiting - . X
& e EPCG ) ' Y
9. _ provides finance to Small and chro Entcrpnses
3T Fe ECGC :
| © e DGFT -
* SIDBI SN :
& * SEZ N
«\10. RCMC for status holder expor‘ters is 1ssucd by ™
e DGFT i
« “EIC . o)
s FIEO -
-~ » Commodity Boards

helps the exporter to complete shipment formalities and cu

Paper / Subject Code: 83016 / Export Marketmg Paper II

stoms procedures.

n which is required for the preparation



Paper / Subject Code: 83016/Export Marketmg:Paper H

-
«”‘- A7

QL1.B. State whether the following statements are True or False (Any Ten) (Ji))

1. A product warranty is an assurance.from the exporter that the product will perform as o
stipulated. - o

2. Labeling helps to give statutory 1nfonnat10n of the. products to the customers

3. Under CIF quotation, the exporter has 1o obtain marme msurance pollcy to cover the
risk/damages in transit. 53 ¥ 5 f

4. Product characterlstlcs do mﬂuence the ch01ce of dlstnbutlon channels 1n export
marketing. <. & )

5. The exporter need .not consider the urgency of the buyer in selectmg the mode of
transport in mtematlonal markets.

6. Advertising helps in handhng objections of the buyer P

7. Countertrade is a system of exchange between countnes in whlch goods and serv1ces
are used as payment rather than money. :

8. Packing credit is provided to exporters- for purchase of capltal goods

9. EXIM helps Indian exporters by prov1d1ng insurance protection. $

10. Pre shlpment 1nspect10n of goods is needed for goods hav1ng ISO: X:ertlﬁcatlo’_

11. The exporter s agent | has to obtain the cartmg order from the Port Trust Authorltles _;l";

12 Consular Inv01ce states the country of or1g1n of the goods ‘ )

Q2. Answer any two of the following " il N (15)

a) Discuss the various factors influencing brandmg dec151ons

b) What are the factors determining export price? ! o

c) Calculate the minimum FOB price which can be quoted by an exporter to USA from
the followmg details. Also calculate the amount of foreign exchange that can be
earned if one American dollar is equal to Rs, 80/- '

Particulars : . B Amiount

Material Cost 65000

Labour Cost - e . : v_] 0,000

Transport Cost’ : 55,000

Contribution to Profit @10% of FOB cost
*.Duty Drawback - ' @10% of FOB price

Q.3.Answer any two of the following (15)
a) What are the factors 1nfluencm g ch01ce of distribution channels in export
marketmg‘7 ‘ %

b) Explain the need. for Insurance in Export Marketmg
& c) Dlscuss the importance of trade fairs and exhibitions in export marketing.

Q.4. Answer any two of the following. (15)
a). Describe the procedure to open a Letter of Credit.
b) Dlstmgursh between Pre- shlpment finance and Post-shipment finance.
- ¢) Explain the role of commerc1al banks in providing export finance.

22949 _ .Page 3 of 8
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Paper / Subject Code: 83016 / Exporgwﬁgfkeﬁn

w

Q.5. Answer any two of the following = J ]

N

a) Explain the pre-shipment procedure, in exports,” P
b) Discuss the custom clearance formalities to be completed by an exporter. -

c) State the importance of commeréial invoice.

Q6. Write Short Notes on the _fqlfowing: (u&hy four) -
i) Product planning decisions for export markg:‘fiﬁg
ii) Export Pricing Quotations - A
iii) Trade-oriented sales promotion techniques
iv) Methods of Bayfhent in Export Marketing
v) Export against Letter of Undertakin g
vi) Shipping Bill : '

HK K ok ok ok

22949 Page 4 of 8
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Paper / Subject Code: 83001 / Financial Accounting and Audltmg IX -Fmanclal Accoimtmg

Sem - 37_1, T & g{y -:w.:

3 Hours S < ' [Tota_l.‘lﬂﬂ Marks]

N.B.: (1) All questions are compulsory. - A

o

8

(2) Figures to the right indicate full marks.

(3) Working notes should form. part of your answers.
(4) Use of simple calculator is allowed

Q. 1 (A) Select the correct optlons for the glven chonce (Any Ten) ' (10
1) A Limited Liability Partnershlp is governed by o ‘ o
a) Partnership Act 1932 2 : & _
b) Companies Act, 2013 ' el
c) Limited Liability Partnership Act, 2008 s 3 B K
d) Limited Liability Partnership Act, 2018 N ' g . A N
2) According to SEBI Regulations, if the subscrlptlon is not at Least ~T of the offer amount, all,
the apphcatlon money needs to be refunded I : B o nd
a) 40% e _ , &7 ;
b) 75% : ' &
c) 60%-. 4 ;5:. i
d) 90% T . o 4 et
3) Mahesh lelted issued shares at a Face Value of Rs 100 wath a premni’m of Rs- 10 per share The
underwriting ¢ COI‘I‘lTl’llSSlOI] ‘'will be calculated on ; ’
a) Rs80 - ey A w : )
<b) Rs90 ? ks M LY
< o) Rs110 - <
d) RS 100 S - e
Rafe of Exchange at the Balance Sheet date is cailed

~b) Closmg Rate

a) Average Rate % ? )

“~¢) Reporting Rate’ <

d) Monetary Rate

Aud1t requ1rement in case, of Limited- Llablhty Partnershlp is only when the contribution exceeds Rs.
25'Lakh or the turnover exceed Rs

'a) 40 Lakhs

b) 25 Lakhs

6)

)

c) 2 Crores
d) 10 Crores

Assets specnf‘ ically pledged are placed in % to'the Statement of Affairs
a) ListD

'b) ListC

¢) ListB
d) List E : -
' Jisused in presentlng financial statemcnt

a)" Bitcoin Currency.

~b) Foreign Currency.

c) Reporting Currency.
d) Digital Currency.

23576 Page 1 of 16
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Paper / Subject Code: 83001 / Financial Accounting a\r@”;xuditinagfrix -Financial Aeeo:nnting R

W

8) is not a Preferential Creditor.
a) Expenses in investigation : P > Y g
b) Salary & Wages : ' o A S
¢) Government Dues N '
d) Unsecured Creditors.

9) Accounting for Amalgamation is govemed by _
a) AS2 E n -
b) AS9 : : -3 e
d) AS14 o = 3 & %

10) Application forms bearmg Stamp with the respective underwriter are called as - A
a) ESOP application .- : 3 < '
b) Unmarked apphcatlon - % ;

] 3 Srew

Sy
<Y

"
£

¢) Proprietary apphcatlon oy o) g <

d) Marked application £ 3 P &
11)If the business ofan ex1st1n g company Modern Ltd is taken over by'.afi)-""existingg::gjbmpanyMUltra-

Modern Ltd, it'is called- .

a) Absorptmn % - - _ . s

b) Amalgamation . - : Ry -

c¢) External recogstructlon &

Ve ! 4 i,

d) Intemal reconstruction: S ¥ & 5
12) A person can act as underwriter only if he holda certificate granted by Q&

a)- Reglstrar of Company _ ah B » 2

(b) SEBL. 3 | > O &

"¢ RBL ¥ 4 3 o4

d) Re‘é‘istrar of-Firm ;
Q. 1 (B) State Whether the followmg statements are True or False (Any Ten) (10)
l) Amalgamatlon Ad_]ustment Account is prepared to record the Capltal Reserve in Transferee company.
-2) Underwnters are not requrred to subsenbe the shares of firm underwrltmg
3) When all the shares are underwrmen by the unfierwnters 1t is called partlal underwriting,
4) Debtors, Bll]s Recelvable and Cash are the examples of non- Monetary items,
5) In quuldatlon of Company, List H mdlcates Surplus/ Deﬁcrt
©6) Exchan ge Rate prevalhng on Settlement date is’ termed as Average Rate.

7) In Amalgamatlon Flctmous Assets should be transferred to Realisation Account to close the
- transferor com pany-accounts, -

8) “Poolmg of i lnterest method" isa method of Accountmg for Amalgamation.

9 As. per Compames Act 2013 the comrnlsslon _payable to underwriter for underwriting of shares
should not exceed 5%,

i

10) LLP should have mmlmum SO‘partners.

11) On quu1dat10n of company, Preferential creditors should be settled before the payrnent of unsecured
- creditors. :

12) Inventory is termed as non-monetary item.

23576 S Page 2 of 16
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Paper / Subject Code: 83001 / Financial Accounting an;Q'WAudiﬁQQKX -Fingrj‘tial Accounting

by

Q. 2 (A) The Balance Sheet of Bhanu Ltd and Aakash Ltd are as under (20). -
Balance Sheet
Ason 31% March 2023 &5 \ %
oy atiss Bhanu | “Aakash - Bhanu' [ Aakash
Liabilities Ltd Ltd - Assetz_ ~ Ltdw Lf“d
Rs. = Rs;-"-“ ) Rs. “Rs.
Eg‘c’lllt)y Share Capital (Rs.10 6,00,000 [ 8,00,000 _Lénd and Bmldmg ;%?oo 00| 7,00,000
| Plant and-- _ Y
General Reserves . l»,OO,OOOI . l,OO,QQg Machmery “ ;. 3, 00 000 2,90,000
Statutory Reserves 1,25,000° 75,000 | Invenfories . 4 ?5 000 3,25,000
Profit and Loss Account 1,75,000 1,25,000 Sundry Debtors 225,000 |« 2,50,000:
o X S % - g
z ;zlgebe“t“res (Rs. 100 3,00,000 | 2,50,000.f Cash 1,25,000' 2,25,000
Sundry Creditors 4,50,000-|"  3,50,000 Bank 50,000 | 175,000
Bills Payable 3,25,0§iﬁ 2,7_57,'000 Prelfininary 1500,000 .f?i":,'O0,000% :
o3 a ] Expenses T
s ey ﬁf‘ a7
- ' +
" ZQ 75 ,000 19 75,0000 il 20, 75 000 19 75 000

%

Bhanﬁ Ltd purchases Aakash Ltd W.E: f Apr11w2023 with: ~the followmg terms and eondmons
a) Bhanu Ltd-takes over. all assets and hablhtles of Akash Ltd at book values w1th the followmg

I.exceptlons 7 R
AR Land and bulldmg
WO
per:: share &
Rs. 100 each

Rs 10 00, 000

_Plant and Maehmery ‘Rs. 3,50,000 Y
b) Purchase consrderatlon is’ dlscharged by i issue- of Equrty Shares of Rs 10 each at a premium of Rs 10

c) Debentur;es of Aakas’n Ltd to be converted to cqutvalent number 0f 10% debentures of Bhanu Ltd of

Ao d) Statutory Reserves is to be’ mamtamed for 4 more years o AT
.~ Prepare Ledger Account to:close the books of Aakash Ltd and show openmg journal entries in the books

of Bhanu Ltd.

L
foiid

o

S

OR

'Q.2(B)On or August 2021 RbhinavEed. an Indlan Im
from DELL INC of USA @ Rs. 77 per'$. >

- Thf: payment for lmport was made as follows:
On 12™ September, 2021 - $ 60,000 @ Rs. 79 per $
-~ On 26" October, 2021 - $ 80,000 @ Rs. 76 per $ -
On 5" December; 2021 - $ 40,000 @ Rs. 78 per $
On 18" January, 2022 - $ 20,000 @ Rs. 75 per'$

u,
4

_Abhmav Ltd closes lts books on3 1 s March every year.
- Prepare DELL INC of USA A/c and Foreign Exchange Fluctuation A/c in the books of Abhinay Ltd.

23576
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porter purchased $ 2,00,000 worth of goods

(10)
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Paper / Subject Code: 83001 / Financial Accounting aﬁtgﬂ”Audiﬁ%g:iiX -Fmanclal Accountmg K

Q. 2 (C) Amar Ltd. went into liquidation on 31° December,;g,()22 wheg;jté Balanee’l\-Sheet wasz;é

follows: ool ' -..'_‘.'-? 10y~
LIABILITIES RS. = L ASSETS- 5. | RS > &
150000 11% Cumulative 15,00,000°( Land and Building 550,000 -
Preference shares of Rs. 10 3 & o P v
each _ Y ¥ e X o
7,500 Equity shares of Rs. 100 : 5,62,500 Eléht and Mﬁellinery 2 18,75,000
each, Rs. 75 paid <G oY e
22,500 Equity shares of Rs. 100 ~13,50,000- Trademal'ks : 3;00,000 | .-
each, Rs. 60 paid 5 i _ 25
12% Debentures (Secured by : 7,50,000 Stock m-trade = 4,02,500
floating charge) = £~ W o
Sundry Creditors 3 | 10,68,750 | Sundry Debtors 8,25,000 | -
L [ CashatBank -~ 225,000 | <
2 & o | Profitand Loss A/¢ @;8’,53 750
_s3ias| ) 52,31,250 “

.s;\.

The assets réfallsed as: follows :

Land and ' Building Rs 4,50, 000 Plant and
Debtors Rs. 10 50 000 % ¢ \ A _ &
The expenses-of llqu1datxon amounted to Rs. 27; 250 The llqmdator is entltled to a commission of 3% on
assets realised except cash. Assummg, the final paymerits includin g those on “debentures“Were made on

31 December 2022, show the L:qmdators Final Statement of Accounts .

R

Q. 3 (A) Prashant and Roshm are partners in M/s. Carpenterwala LLP sharmg profits and losses in the

- 23576
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ratio 2:3. Followmg is thelr Trial Balance an on 3~1 3- 2023 20)
Particulars- " Debit . Cnetilt
S Rs: “Rs.
Stock (1-4 -2022) N 25,000 |
Prashant's Capital - - 1,21,000
Roshni's Capital ' 85,000
Bills Payable t 46,500
" | Carriage Outward ; 5,000
Purchases 3 2,25,000
Return outward ¢ 15,000
| Sales 4,07,000
-| Return inward 2,000
Bad debts 6,000
Sundry Debtors _ 51,500
Cash at Bank of India-. 20,000
‘Cash in hand 5,000
General Repairs - 5,000
Warehouse Rent 7,500
Motor Insurance 6,000

i,
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Paper / Subject Code: 83001 / Financial Accounting arrg““Auditin%gffiX -Fmanclal Accoilntmg R

Discount : _6-,-5 00

Manager's Remuneration R 60,000 5

Vacant Land at Nashik : i"',‘f'SO,OOOA . § 23

Motor Car > 80,000 ol

Laptop D 4 20,__(}),}{0;0 3s i ;

_ TOTAL|  6,74;500 ._6;74,500 3 &
Adjustments - 2 Y ! o ¢
i.  Goods worth Rs. 6,000 taken over by Prashant for personal use were not entered in the books- of
account. A : ' 2

ii.  On 31-3-2023 the cost, prlce of closmg stock was Rs 30, OOO and 1ts market price was Rs 28 000

iii.  Provide Rs. 1,500 for.Reserve for doubtful debts on debtors.

iv.  Outstanding expenses as on 3lst March 2023: Rent Rs. 2, 500 and Manager s Remuneratron g
Rs.5,000

v.  Provide depreclatlon @ 10% p.a.on Motor Car and @5% p.a.on Laptop : :

vi.  Goods worth Rs.12 ,000 were destroyed by fire and lnsurance Co.- agreed to pay / Rs. 10, 000 in
full settlemént of the clarm \

o

: g e, ; e : g
You are requir lred to prepare Profit arrd Loss Account for th,e year enrﬁng 31 3-2023 and the Balance
Sheet as on. that date aﬁer consrderm g the above adjustments. .- :@ o v

""s,, it

& | OR o

Q. 3 (B) Maruti Ltd issued- 1 00 000 Equlty Shares of Rs. 25 each at a premium of Rs.10 each The

entire issue was underwntten as follfows } . A (10)
Akshay 60, 000- Shares (ka Underwntmg 10,000 Shares) Lo
Bhavesh 30,000 Shares (Firm Underwrrtmg 4,000 Shares)
Chintan 10 000 Shares (Firm Underwrltlng 2,000 Shares)

Applications recelved forSU 000 shares the followmg are, the marked appllcatIQnS including firm
underwntmgw ' Y o

Akshay 24 000 Shares

§

f Bhavesh i:ff 20,000 SHares -s,;;\ 2
: ‘Chintan .~ 8,000 ’Shares & ol
Calcu*late the Net Llablllty of each underwrrter when the beneﬁt of f tm underwriting is given.
- ‘tz - » ,;\. A Rrd

Q 3(0) Manas Ltd. exportecl goods to Shepherd Inc of Canada worth $ 10,00,000 on 5% January, 2021
& ‘when the exchan ge rate was Rs 68 per US §. N 10)

The amount wa% received in mstalments as follows:

16.02.2021 -$4,00,000 @ Rs 69per US$

16.03.2021:-'$ 2,00,000 @ Rs. Iﬂ‘perUS $

+16.04.2021 - $ 2,00 OOO@RS 67 per US'$

16.05.2021 - $ 2 00‘000 @ Rs 65 per US $

Manas Ltd. closes its books on 31% March every year when the exchange rate was Rs. 65 per US $

You are requfred to pass journal éntries in the books of Manas Ltd. for the years ended on 31% March,
2021 and3 1%t March 2022. X

23576 ) '_ Page 5 of 16
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Paper / Subject Code: 83001 / Financial Accounting an\d'"AudiﬁggfIX -Fin ncial Accg‘gmtmg Rl
P - 22 Nt 4:3 ’\4\/
? : o :{.&,,; ’ s

Q. 4 (A) Lost Life Ltd. went into liquidation on 1% April, 2022 when its Balance Sheet wa_s‘-:_ii;\s" follows;

_ & O ay
LIABILITIES ~RS. A»SS'ETS ; ‘ RS W
1000 10% Cumulative Preference 1,00,000 Premi,s_été' +2,40,000 |
shares of Rs. 100 each e LY L % A=)
3,000 Equity shares of Rs. 100 3,00,000 | Machinery - 1,6519%(_),0
each ¥ o =
14% Debentures (Secured by : -1,50,000 +{:Stock %ég,0,000
floating charge) o : el R S
Interest Accrued on Debentures 21000 | Sundry Debtors™ L 29,000
Unsecured Creditors 3,24,000 | Cash at Bankff"' ~ 48,000 :
Y Profit and Loss A/c |  1,53,000 s
5 ~8,95,000 = 895,000 |
: ) il o f::é" wi o
Note: Preference Dividend was in arrears for oneyear. - P o e
The assets realised as follows: : Y KLY E
Premises Rs.. 1;70,000_;-- A N L Pk .{gﬁ'
Machinery Rs. 85,000; o ay \ o

Stock and Debtors Rs. NIL ; K ”

The expenses of liquidation. amounted to Res. 12,500. The liquidator is entitled to.a.remuneration of 1%
on assets realised except cash. Assumin g, the final payments including those on debentures were made
on 31% December, 2022, show the Liquidators Final Statement of. Accounts. -

Q. 4 (B)Prem Ltd. issued pro‘SBectuS inviting applications fgr%S0,000 equity shares of Rs.10 each at par.
The whole issue was fully underwritten as follows: Hemant - 40,000 shares: Jaydnt - 30,000 shares; and
Chhaya - 10,000 shares. Applications were received for 76,000 ‘shares which also included marked
applications as follows: Hemant = 27,000 shares; Jayapt.; 18,000;‘shares, ang}_,;i_ﬂhhaya— 15,000 shares.
Unmarked applications are to be-distributed amongst the underwriters in the ratio of their gross liability.
Prepare a statement to determine the net liability of the underswriters. .\.5;'; . (10)

Q. 4(C) Ishan and Amol are partners in M/s. Glassdoor LLP sharing Profits and Losses equally.

From the following Trial Balance of the LLP, prepare Balance Sheet of the LLP as at 31st March, 2023.

23576
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(10)
_Particulars ~ Debit Particulars Credit
Stock as on 31.03.2023 18,000 | Capital Accounts
‘Trade Receivables 32,000 | Ishan ; 85,000
fComputgr' 75,000 | Amol \ 65,000
Printer™>” ; 15,000 | Bills Payable 22,000
Prepaid Advertisement for :
4 years A . \ 6,000 Outstanding Salaries 5,000
Investment in Equity - : ;
‘shares of Reliance Ltd 10,000
Cash at Bank with-HDFC
Bank<"’ 25 21,000 _
1,77,000 1,77,000
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Q. 4 (D) Following is the Balance Sheet of Maharaja Ltd as on 31st M_ar_c'h 2023.
A b : Dt fn
Liabilities “Rs. Assets Rs.
zzzalgreference Share Capital (Rs 100 : 10 00, 000 Goo dwtll | \:: 5.,35’000 5
Equity Share Capital (Rs 10 each) 10, 00\000 Land and Bu1ldmg 14 ,60,000°
General Reserve A 4,00,000 | Plant and M}&chmery 5,10,000
Statutory Reserve & .1,75,000: | Investments 4,18,000
Profit and Loss Account > 2,40,000 | Inventories &~ | 2:25,000
9% Debentures ; 8,00,000 | Sundry Debtors” -.3,26,000
Sundry Creditors & 3,60,000 | Bills Receivable " 3,91,000
Bills Payable : ~1,05,000 | Cash and Bank < ~3,56;000
Provision for Tax © 75,000/| Preliminary Expenses l,,té!ﬂ,OOO
41,55,000 ¥ & 41,55 000 |

Chakravarti Ltd is fonned wnh an authonsed oaprtal of 6, 00 000 equty Shares of Rs. 10 each to take

over all the assets and\(labllltles of Mahara_]a Ltd with the followmg terms and conditions.

a) The assets are to be taken over at 10% more th an the book vaTues

b) Goodw1]l of Maharaja Ltd is valued ‘at Rs. 5 40 ,000.

c) Cost of formatlon of New Company amounted to Rs 38 ,000.

"(..

d) Debentures of Mahara_]a Ltd is to be converted lnto equwalent number of Debentures of Chakravarti

Ltd.~ o3

e) The purchase con51deranon is dlsoharged by 1Ssue of Equuy Shares of' Rs. 10 éach.

F ind out'the purchase oonmderatlon

f\

A

o, 4

Q 5 (A) Explam statement of affalrs in 11qu1dat|on of company

Q.5 (B) Explam beneﬁts of' lelted Llablhty Partnershlp

Q 5 (C) erte Short Notes (Any Four)

1) Purchase Consuleratlon

OR

2y Spot rate-and Closing rate in Forelgn Currency Transacnons
3) anuldators Final Statemenn of Account

4) Underwntm g of shares
5) Amalgamauon and Absorptlon
6) Monetary Items v

23576
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Paper / Subject Code: 83008 / Business Management Paper - IV (_rf/ 4 / 2022

ﬁ]/\cﬂ nct el ™M NLGe Mey J-
(3 Hours) o
N.B: 1) Check whether you have received correct question paper. oy
2) All questions are compulsory with internal options.
3) Q.1 & Q.6 carry 20 marks and Q:2'to Q.5 carry 15 marks each I :
4) Working notes form a part of thé answer and have to be solved immediately after
question and not on the last page of the answer sheet. ¥ :

i i

© Marks: 100

&

>
£

(10)

i A .
Q 1 a) State whether the following staten_lefil%ts are true or false'(Any 10)
The project with longer pay back period should be selected. ,
Permanent working capital is the maximum.capital that must be maintained.
Credit sales result in-accounts réceivables. S A A
The objective of cash managéfhent is to‘maintain optimal cash balance.
Cost of production includé"s" prime cc)_s.?° plus selling overheads.
Marginal costing is a technique of decision makin g W
Capital budgeting is done to evaluate long term investment decisions.
Longer the production cycle larger will-be the requirement of working capital.
. ABC analysis is a“téchniquc'df contrg_llihg debtors.
10. Bill discounting is selling'goods to customers at a discount. :
11. In Cost Sheet, sale of scrap of materials is deducted from factory overheads.
12. Variable cost per unit changes with the change in output.

CENAGL A LN~

b) Match the column. (Any 10) 4 (10)
/ "COIumn_ A " Column B

| 1) Net Present Value A a) Financial statements G

2) Expenses on training b) Total current assets-only

3)Break-even.point - ; 1:¢) Period of recovery

4) Net working capital - | d) Larger working capital

5) Source of credit information e) Discounted cash flow =

6) Profitability Index f) Cash outflow

7) Cash sales i . | 2) No profit no loss

8) Seasonal-working capital : /| h) Current assets — Current liabilities

9) Margin of safety | i) Less working capital

10) Large scale operations J) Actual sales ~Break even sales

1) ,aross working capital K) To meet seasonal need N
| 12) Pay-back period -{ 1) Large working capital |

Q2 Nilam Ltd.is considering: to start anew project. There are two proposals under
consideration i.e Project Ruby and Project Moon. Follow information is prodded about

it. | (15)
Particulars. - : i Project Ruby Project Moon
Cost of the Project _ ; 3,66,000 1,80,000
Expected Life (no salvage) 5 years 5 years
Tax Rate ' 30% 30% |

Net Profit before Depreciation and Tax |
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Year 1 P 72,000 » 48,000
Year 2 " 805000 & 60,000
Year 3 & 1,44,000 | ./ 80,000
Year 4 > A 21,04,000 | 72,000
Year 5 ’ _ 7 88,000 = 36,000,
You are required to calculate the following. ' > B P

a) The pay- back period 4

b) Pay back Profitability and & <

¢) Average rate of Return. -~ & A
You may assume straight line method of depreciation. <+ oy

' ~OR M By e

Q 2 Parag Ltd. Is planni_n_‘ié’tlo purchééé a machii‘ie. There»étfé two optrons ava_ilf;iﬁie i.e
Machine Alpha anid Machine Beta each costing Rs 10,00,000: For comparing the.

profitability of machines , a discounted rate cf 10% is to ,‘bé:"c’onsidcrqd". “(15)

Expected profits after tax and before deﬁreciation are as follows: &
Year Alpha maching profits | Beta machine profits '
1 3,20,000 1,20,000 »
2 -4,00,000 3,00,000
3 | 5,00,000 4,00,000 )
4 3,00,000 ' 6,00,000
5 4,00,000 4,00,000

Year. L Vi 2 3 14 5

PV Factor . {0.909 0.826 0.751 .-~ [0.683 0:621

Suggest which machine the company should purchase using the following methods.
1) Pay-Back Period method :
2) Net Present Value method
3) Pay-Back Profitability
The net present value of Re 1 @ 10% discounting factgt: is as follows:

Q3 Frgpi‘the following information , prepare an estimate of working capital required to

ﬁﬁéhce a level of activity of 4,16,000 units per year of 52 working weeks. (15)
Particulars Per Unit

Raw materials Rs 90

Labour | Rs. 60

Overheads Rs. 50

Profit Rs. 50

The following additional information is available
L. The activities of puféhasing, producing, selling occur evenly throughout the year.
2. Raw Materials équivalent to 4 weeks supply is stored in warehouse.
3. The production"proces(s; takes 2 weeks.
4. Finished goods equal 16 4 weeks production are carried in stock.
5. Credit allowed to customers is 8 weeks but 20% of sales are collected immediately.
6. Time lag in payment of wages is 1.5 weeks and in overheads is 4 weeks.

23519> . Page 2 of 11
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Paper / Subject Code: 83008 / Business Mﬁﬁagemenﬁﬁ’aper ~IV

7. Credit available from suppliers is 4 weeks ybu,t'30% oi_f%ﬁé creclitc;\!-s._a'r,3 paid 4 weeks in
advance. W & a8 <
8. Bank balance to be maintained at Rs 70,000. e e i
' ) OR o i -
Q 3 A factory is having a capacity of 1,00,000 units per annim. It is é{fﬂgeted tli‘af for thg
year 2022-23, the capacity utilisation will be 60%. The estimatgd cost stt;hcture is, a§
follows. €

e o a8
Particulars Rs (p.u) ) :
Raw Materials 30 & .
Labour 20" 4
Overheads 15 & oA 9
Total cost 165 : P
Selling price <~ | 100 - A 2 N

The following additional information is available: ‘

The activities of purchasing, producing and selling occur evenly throughout the year.
a) Raw materials equivalent to 2 month’s supply is stored in godown..
b) The production process takes one month. . 5,
¢) Finished goods equal to three month’s production are carried in-stock.
d) 75% of the sales will be for credit. Debtors get Z:__ix'nonth’s credit.
e) Creditors allow one and half month’s credit.
f) Time lag in payment of wages and overheads is % month.

Prepare an estimate of working capital requirement.

Q 4;Er6m the following information of Varun Lt_d, prepare a cash budget for 3 months ending

31% December 2022, (15)

Month (2022) Sales (Rs) Purchases (Rs) Labour (Rs) | Overheads (Rs)—‘
August 2022 40,000 20,400 7,600 3,800
September 2022 42,000 20,000 7,600 4,200
October 2022 46,000 19,600 8,000 4,600
November 2022 50,000 20,000 8,400 4,800
December 2022 60,000 21,600 9,000 5,000

Credit terms.are as follows:-

a)

b).

o)
- d)

€)
1§
2)

23519

S@lgé‘/— IO%Qfsélés are on cash basis. 50% of the credit sales are collected in the next
month and the balance'in the following month.

‘Creditors — Paid after 2 months. Wages after 1 month and Overheads after %2 month.

Cash l?ﬁlance on ,l‘fE‘October 2022 is eg&p‘écted to be Rs 8,000.
A Ipaéhinery will be installed in August 2022 at a cost of Rs 1,00,000. The monthly
instalment of Rs 5,000 is-payable from October onwards.

%i*D,ividend qt" 10% on .Pfr:é'ferencev share capital of Rs 3,00,000 wil! be paid on 1%
" December 2022.

Advagié'e to be received for the sale of vehicle Rs 20,000 in December.
Income tax to be paid as advance in the month of December Rs 5,000.
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OR e
Q 4 Prepare Cash Budget for January to April 2022 based on the following L as)y
estimates in the books of Alia Ltd. AN ol
1) Sales during the months: & ; C N
* November,2021 [y 80,000 X
* December,2021 o <5770,000- S
e January,2022 : = 80,000 )
* February,2022 : = 1,00000 Y
e March,2022 % - aﬁ 000 < ,,;;'-T-“” _f
e April, 2022 < 1,00, 000"

2) 20% of'the sales are on: cash and the rest arg on crcdlt payment Qf which is. reallzed in the thlrd month

3) Purchases are 60% of the sales and paid i i the third month of pur:chase _,..»J; g >

4) Commission is payab'e @ 5% of sales afid paid in the third month. )

5) Rent & other expenses amounting to Rs 3,000 are pald in each month, -

6) Payment for purchase of fixed assets Rs 50,000'in March 2022 and payment of taxes Rs 20 000 in April
2022,

7) Cash balance as on 1™ January 2022 is Rs 25,000.

%

Q5 The: followmg mformat]on is available for the ye;ar ending 31% March 2023 from the

books of Abhlshek Ltd. : aas)
Particulars Rs.
Direct Materials Consumed - : ‘ R . 6,00,000
Direct wages - < - - ~4,00,000
Direct-¢xpenses .. L% % K 2,00,000
Indirect wages iy __ 30,000
Power & Fuel _ 55,000
Workmans’ welfare expenses 40,000
Depreciation on Office Building : 15,000
Depreciation on‘Machinery 25,000
Other factory expenses g 1,50,000
Sale of factory scrap. : ' 15,000
Administrative staff salaries 1,55,000
Other administrative expenses 1,10,000
Audit fees ; 35,000
Commission to salesmen : 1,20,000
Advertisement ] 25,000
Showroom expenses - 35,000
Sales ( For the production & sale of 10,000 units) 26,40,000

You are required-to prepare a detailed cost statement with per unit column.
v OR

23519 Page 4 of 11

5717145B 1E8C9254F2FAFF53EA6DBCER



v ‘2&;{‘;\ Ae‘“i’
Paper / Subject Code: 83008 / Business Managemenf Paper AV
_«': 2] v :f%, 4 %.f\':%

QS From the following information relating to Modem Ltd _you are re:qulred to ﬁnd the
following. ' el £ (15K

a)
b)
c)
d)

P/V Ratio / & ; S
Break-even point in Rs and Units ~ 4
Margin of safety 2 : Wy El
Sales to earn profit of Rs 6,000 : Pl

Fixed cost Rs 4,500 o~ v & :
Variable cost Rs 7,500 . - ' & ' : i

Sales Rs 15 000 ' : P
Unitssold 5,000 . £ X e

Q 6 a) Explain the factors getem1nlngworMng _Qapltal requ"ﬁrements N (10)-
b) What is Recelvable Management ? Explam dlﬂ‘crent aspects of Reccwab"le a*

a)
b)
c)
d)
€).
B

23519

Management. - h g e . /('160)
% \DR . %, g

Q6 Write the shpft‘;‘iiotes (Any 4) < ©(20)

Cost sheet

Marketable securities
Break-Even-Analysis
Pay-back period .
Importanu: of working capital
Cash budget
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Paper / Subject Code: 83022 / Psychology of Hllrl}_;ih Beha\{_i@iff at work Paper'-.__,_II:?

o
Ny

Time: 3 Hours : Marks: 100 - i

>,

N.B: 1. All questions are compulsory
2. Figures to the right indicate full marks

Q1 A. Complete the following statements by selectmg the approprlate answers (Any, 10) 107

i. Inawork mdwldual effort results in performance that 1s\greater than the
sum of individual parts. 2 . ; <
a) team : 5 o3 -
b) group ok % e &7
0 trust F & & F g -
d) performance - ) % S : &
ii. " teams'do not have' the authorlty to umlaterally unplement their _
recommendations for improvement. .. : >
a) Problemsolving - & -
b) Cross-functional 2 =
c) Self-managed - .
d) Virtu‘al ; Q\vﬂ o s £
iii. A team s charactensnc of reﬂectmg on, and adjusting the mastqi‘ plan when necessary 1s
knownas
.‘af reﬂexw;fy
~'b) men;gl model ' . o y
¢) social loafing - \ S =
e d) team efficacy- : i ' AN o 0

3 3;“

e

‘-7}’? ;

G e «, o

-a)Size -
“b) Upgradation ,
- c) Techpo]ogy : . i
d) Dmsmn 3 o

o on
s 1» i

V. il conﬂ:ct means emononal 1nvolvement~1n a conﬂ 1ct that creates anxlety,
teriseness, frustration a.nd hostxhty AS -
~a) Functional o : &4
~Cb)Felt > _.
) Percéived o S
d) Erécess ;ff : ®

,\:w

i Ln' ) , there, 1% no clear winner or loser and each party to conflict is willing to give
up somethmg
a) compromising
b) avoiding LS
¢) accommodating-
d) collaboranng

vii.  Stressful daily events_ : . affect moods.
a) positively
b) negatwely
¢) donot
R
viii. =% “factors can mfluence 1nterprelat10ns of emotions
~a) Environmental
+b) Cultural
c) Social
d) - Natural
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Paper / Subject Code: 83022/ Psychology of Huqla’n Beha

ix.  Emotional intelligence is a factor in ) employees,

a) terminating
b) hiring
c) training
d) motivating

X. Liberalization of attitudes towards gay erpgioyees is a_gl'éxample of

a) social trends

b) political changes X

¢) economic sho
d) technological

Xi. Changes in the by,
a) social =
b) political e
C) economic

d) technological

Xii. are reéponsibilities, Pressures, obligations and uncertainties indjviduals face'in

the Work place,

» Sl 3
a) Hindrances .- 2 e )

b). Challenges
.e) Resources
~d) Demands

Q1'B. State whether the'

S i) Work team is'a

e <)

A T Catd G,

\ L L5 o
o A~ in AL
o
S
¥

e

5. Py = o

%

cks
changes

siness cycle create uncertainties, -

By

f
i

by Lo

P o, Y o
% G "5 o P

followin g statemen ts gré true or.false (Any IO) an?

viour at work Paper -IT

L

¢ 0);;:_

group that interacts primarily to-share information and to'make decisions to

.- help each member perform Wwithin'his or her area of responsibility

.10 Teams do worse when they have gne Or more highly d_i's‘fagreeab]e_ Ihféinbcr.

.~ 1ii) Effective teamg have a lower Jeve] of efficacy.

iv) Th_qgii:esire to with
S ) All'things be_ipﬁ equal integrative bargdining is worse than distributive bargaining,

o

draw from or suppress'a conflict i 'collabqra;ing intention,

L sure whqﬁo do. e A
- Xii) Addicts are people obsessed with their work.

Q_Zf-;élnswer any Two of t

he following

a) Define work team. Describe the four common types of teams in an Organization,

Q3 _.{&fhéwer any Two of ¢

he'fblluwing

—a) Differgn'tiate bet»ge'en the traditional and interactionist view of conflict,
By Define conflict. Write 4 note on functional outcomes of conflict,

¢) Write anote op dj

10794

stributjve bargaining
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Paper / Subject Code: 83022 / Psychology of Human Behaviour at work Paper - [T

Q4 Answer any Two of the following \ o ” (15)
_-a) Define emotions and explain the basic emotions. & %
" b) Name the sources of emotions and moods'? Explam how somal activities, sleep and_°
personality affect emotions. AT
¢) What is emotional mtelllgence‘? DISCUSS the arguments for and agamst emotlonal mtelhgence

o}w _ ««?

Q5 Answer any Two of the followmg I &“ K\”* . (15)
a) Identify the factors that act:as st:mul%to change Y &
b) Discuss the individual variables that moderate the effect of expenenced stress

A Explain the role that orgamzatlons can play in reduclng stress

Q6 Write short notes on (Any Four) 2 S Jz'(})
,a) Diversity and team effectiveness 2 o : :
b) Integrative bargaining .
¢) -Preparation and Planning for Negotiation
~d) Emotion regulation : W
&) Environmental stressors.
D Psychological symptoms of stress. j

i,
2y

R T ; - T
g By .. .- o *

,
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M-0-D

b

Time:3 Hours | Marks:100

Note 1. All Questions are compulsory = | & AR
2. Figures to the right indicate full marks Pl o <~

Sk,

Q.1 (A) Select the appropriate altematlve from the optlons glven beIow (Any 10)

1. involves the transfer of messages from one person to another

a. Communication  b. Leadlng © Motlvatron d Controllmg ; W‘”M ;"'ff
2. istelling people what to do and seemg that they do itto the ‘best of then- ablhty " I

a. Team work b Drrectmg c. Efﬁcreney d. (;_oordmatlon; Q‘“\

3. refers tg Specrahzed or techmcal lan guage \fff‘m"'.l __g‘?. i/_:f}f:'-y 2
a. Halo Ef’fect > b. Jargon A . Emotlons é Flltermg | ? \m

k

4. The concept of transformatlonal Ieadershlp was lmt;ally mtrodtrced by leadershl p expert ;

a. Dougla\s McGregOr b. James McGregor Burns c. Fredrlck Herzberg d George Ten'y

«\"w

5. s reqmred when conflict arises. =) : \ & <F
a. Commumcatlon b’”\ Co-ordmatlon X c. Co-operation _.d. Conciliation =~ =

o 6. Job D,lssatlsfymg factors are; also cal led as i .
| ® a Hygrene factors”  b. Job Motlvanonal Factors . Motlvators “ d. Rewards

A
Voo

? tecﬁmque anal)?ses the co%t-volume—prof t relatlonshlp
- \V < \I

K -a. Self—control b. Bhdgetary Gontrol ¢, Break-even d MIS

4
S
% by

8. > enables management to know the areas of their §tren gths and weaknesses.
P
a. PERT o b Management Audlt L3 Supemsnon d Self Control

ot

5 control 1s the process of ensurmg that spemﬁc tasks are carried out effectively and
~effi crent]y . < : :

a. Qperatlonalv ;_fﬁ~ b. Stratééi'c chualitatii!e "*‘ﬂ'. Quantitative
10 Organlsatlonal Development programmes emphasrs on - learning.

a teachmg b experlentlal c. actlve | d d. passive

*:}»

=, ”ﬁ

Il b means any alteratlon that occurs m the work environment.

N

a. Resrstance to change b Organlzanonal Change ¢. Management of Change d. Time Management
12 _ m is based on emonons sermments and attitudes.

)

a. Logrcal resrstance b. Resistance to chan ge ¢. Psychological resistance d. Sociological resistance
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Q.1 b) State whether the following statements are True or False. (Any 10)
1. Managers need not be good leaders. &

2. Bureaucratic type of leader consults hlS subordmate before fakm ga deCISIOII

3. Supervision is an important element of dlrectzon 13“' )

4. Open door policy is a form of dlagonal eommumcatlon ; : : _,
5. Customization of ERP can be easnly handled _ : S x S o w
6. In the case of a Management Information System a data bank is mamtamed 7 %) 3
7. PERT and CPM techmques are used for the executlon«of small-sea]e pro,t&egts.
8. Social Needs refer-to ego needs . : S ) el
9. Job ennchment mvolves more challengmg tasks and resppnmbrhttes | X

10. Team bu;ldmg techmques of Orgamsattonal Deveiopment foeus on tnformal groups
11. Informatlon techno] ogy IS the only reason for orgamzattonal change

12. Organtzatlonal conflict may resu]t in stress for the employee & »r“\'-"‘% _
S i .;__“." R

o A . " S

Q 2 Answer the folIQng (Any 2) P - _ ' ISmarks
~a, Explam the meamng and j lmportance of commumcatlon = s .. :

b. Define Leadersh ip. DISCUSS the quahtles of a good leader
C. DISCUSS in detall the Path Goal Model of Leadershlp

Q3 Answer the followmg’ (Any 2) X 2 “ QY 15 marks
a. Coordlnatlon is the essence of management( " Discuss

b Explam vanous fii na.ncxal and non- mancml factors of motwatlon.

c. Descrlbe McGregor s Theory X and Th eory K

.\.;\.. oy

Q B Answer the fo]lowmg (Any 2) > X 15 marks
a. State the requ irement of an eﬂ'ecttve control system
b. Explam the steps in demgnmg and developmg a modern MIS.

c Defi ne Enterpnse Resource Planmng (ERP). Explain its advantage and dlsadvantage

23320 & Page 2 of 6
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Q.5 Answer the following (Any 2)

a. Explain the importance of organizationalf'fie"velopmenf

b. Elucidate the meaning and 1mportance of effectlve time management

¢. What are the causes of conﬂlct in an orgamzatlon‘7

Q.6 Write Short Notes on (Any4)
a. Process of Commhnication

b. Different styles of Lcade“réhip . ’?2

¢c. Maslow’s Need chrarchy Theory &
d. Techmques of Cori’frollmg &
e. Resnstance to Change P %

f. _erchn iques _of Orgam;éfional ngeIOpmen\tg"l N

X &
S RERERRERRER AR
: o

“ 2 g

e . - B

/.\ o ¥ -t

‘\ “ e K o
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Paper / Subject Code: 83029 / Elements of Operational Research Paper - IT

Time 3 hours Total Marks : 100
Note:

All questions are compulsory.

Figures to the right indicate full marks.

Use of non-programmable scientific calculator is permitted.
Graph papers will be supplied on request.

Statistical tables are printed at the end of question paper.

$ b e

Q1 A Answer whether following statements are True or False. 8

i) During project crashing, indirect cost decreases.

i)  Optimistic time is maximum time required to complete an activity.

iii)  PERT stand for Probabilistic Efficiency & Read Technique

iv) At Economic Order Quantity (EOQ) point the ordering cost is always
equal to the inventory carrying cost,

V) When quantity discounts are offered, it is necessary to calculate the total
cost of inventory, which should also include the annual purchasing cost
along with the carrying and ordering costs.

vi)  When an order smaller than Economic Order Quantity (EOQ) is placed
then total inventory cost will increase.

vii)  The pay-off value for which each player in a game always selects same
strategy is called the equilibrium point or saddle point.

viii) A zero-sum game implies that the gain or loss should be a whole
number and not a fraction.

B Select the most appropriate choice for the following: 7
i) When the value of a game is positive, then of the
game.

A)  minimizing player is B) maximizing player is
winner winner
C) noplayeriswinner D) no player is loser
ii)  Games which involve more than two players are called ;
A)  2- person game B)  negotiable game
C)  n-person game D)  none of these.
iii)  Inamixed strategy, each player should optimize the

A) maximum payoffs. B) lower value of game.
C) minimum payoffs. D) expected gain/loss.
iv) The set up cost is the expenses that are incurred for

A) paying watchman. B)  paying maintenance of premi
C)  setting up production facility. D) paying rent of warehouses.
V). The time gap between placing an order and actual delivery of the order
in the inventory is known as
A)  critical time B)  non-critical time
C) lead time D)  none of these

23593 Page 1 of 5
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Q.2 A

vi)  Latest time is calculated using

A) Forward pass method

C) Backward pass

vii) Event marking the completion of activity is called

B)

A) Head event

C) Future event

Answer in one or two
i) What is merge event?

method D)

B)

Critical path method

By pass method

Tail event

D) Dummy event

sentences:

ii)  What is meant by Dummy activity? *

iif)  What is meant by fair

game?

iv) What is meant by mixed strategy game?

v) . Define shortage cost.

A small project consists of following activities. Construct a network diagram 20

& identify critical path.

i)  Project completion time
ii) Earliest & latest starting & finishing times

iii) Total float, Free

iv) Tail & head slacks for each activity

float

OR

Activity A[B[C]|D E F|G

Preceding Activity -| -|]A|A]| B&C*| D | E

/| Time (days) 4 6 | 4 3 3 1 §£32
~ Find: :

B The following table shows details of a project. Indirect cost is ¥ 200 per day.
Assume a total normal cost T 4050 for entire project.

123593

Nodes Normal time | Crash time Cost Slope for
(days) (days) crashing
(X/day)
1-2 4 3 200
1-3 2 2 0
1-4 S 4 150
2-3 7 5 100
2-5 7 6 200
3-5 2 1 150
4-5 5 4 200

i)  Construct a network diagram for the project & identify critical path.
_ii)  What is the normal duration & corresponding total cost of the project?
iii) Crash the project systematically & find out minimum cost & optimal

time.
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Q.3 Attempt ANY TWO of the following:

A Solve the following game: 10
Player B
By [B; | B; | Bs| Bs
Arl2]14]3|8]4
AlS5]6]3]7]8
Player A |As | 4 | 7|19 | 8§ | 7
: Ay 4128|413
As| 2 |13 [3]4]|6

B The following payoff matrix describes the increase in sales of a firm A from 10
each of its strategies A, Ay, A3, Agand Asagainst each of the strategies B,
B,, B; and B4 of'rival firm B.

By | By |B;|Bs
A [55140]35]40
Ay |70 | 70 | 55460
Firm A | A3 [ 75|55 |65]|70
A, |80 | 85[60]80
As | 701707 62|72
Solve the game and find its value. .

C A soft drink company calculated the market share of two products against its 10
major competitor having 5 products and found out the impact of additional
advertisement in any of its products against the other.
Competitor B

Bi | B2 | B3| Bs|Bs|

A 81619715

Ay |30 )20[12[12]10

What is the best strategy for the company as well as the competitor? What is
the value of the game?

Company A

Q4 Attempt ANY TWO of the following:
A A company buys a product costing Rs 125 each. The company places 4 orders 10
in a year and each order size is of 500 units each. The ordering cost is Rs.150.
The inventory carrying cost is estimated to be 20% of the unit value. What is
the total cost of existing inventory policy? How much money could be saved

by employing the economic order quantity? Also find the number optimum
orders and the time between two orders.

B The demand for a product is 2000 units per year. Purchase price of the product 10
is Rs. 50 per unit. The ordering cost is Rs. 25 per order. Holding cost is Rs. 10
per unit per year and back order cost is Rs. 30 per unit per year. Calculate the
following: (i) Economic Order Quantity, (ii) Optimum number of back order

units, (iii) Maximum inventory level, (iv)time between two successive orders
and (v) total annual cost.
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Find the optimum order quantity for the product for which the price breaks are
as follows:

Quantity Unit cost in Rs.
0= Q <500 Rs. 20
500< Q <700 Rs. 18
Q>700 Rs. 16

The yearly demand for the product is 4800 units, cost of placing an order is Rs.
30, the cost of storage is 20% of average inventory cost per year. Find
optimum order quantity so as to get optimum total inventory cost.

Attempt ANY FOUR of the following

What is Network Analysis and What are objectives of Network Analysns"

A small project consist of following activities. Draw a network diagram for the
project & Jidentify critical path & find prQ]CCt completion time,

Actmty A B C D | E F
Preceding - - A B C& -4 a
Activity : ‘D

Time < 5 7 4 6 3 4
(days)

Sagar Ltd., has developed a sales forecasting function for its products and the
products of its competitor, Pradhan Ltd. There are four strategies S1,52,S3 and
S4 to Sagar Ltd. And three strategies P1,P2 and P3 to Pradhan Ltd. The pay-
off table is as follows:

- Sagar Pradhan Ltd.’s strategies
Ltd.’s Pl P2 -P3
strategies
S1 90000 -63000 - | 3000
S2 54000 42000 36000
S3 -18000 84000 12000
S4 54000 18000 6000

(i) ~ What would be the optimal strategy for Sagar Ltd.?
(ii)) What would be the optimal strategy for Pradhan 1td.?
(iii) What is the value of game?

(iv) Is the game fair?

Explain the principle of dominance to reduce the size of pay-off matrix.

‘The annual demand for an item is 20000 and the company produces it at the

rate of 40000 units half yearly. The set-up cost is Rs. 300 per setup and

inventory holding cost is Rs. 16 per unit per year. What should be the
economic production-lot size?

What is Inventory Control? What are the objectives of Inventory management?
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STANDARD NORMAL TABLE (2)
Entries in the table give the ar i?sem
between the mean and 2 sta fons above
“he mean. For exampie,

the curve b

007 008 0.09
00279 008189 0.0359

0.0208 0.0675 00714 00753
0.0793 0.1064 01103 0.1141
2.1179 0.1443 0.1480 0.1517

4| 01554 0.1808
1 01915
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